Science & Technology
Paper -1

Maximum Marks : 80

Name the comet that was last seen in the year 1986 and is expected to be seen
again in 2062.

SH ey 1 AW WAy S fusel SR 1986 W f@n o s el oW 2062 ® EH:
femd #1 HwEA 2l (D

Name the two kinds of photoreceptors present in the human eye.

AT @ ® T8 WW A q ER R 9eifEd (wEfEww) % a9 fafed ()
Name the disease that destroyed the potato crop completely leading to Irish
Famine in 1740-41.

39 I & AW fafed sio1740-41 # o ® wEA YU TR eH H ERY §@
(MR HHME) &1 RO & ol (1)

Write the alternative name used for endrocrine glands.

Iqq: wE U (Ueihzd Teed) % U W 9 W RF W O@? (1)

A burning matchstick is brought near wood and petrol simultaneously. Which
substance will catch fire first ? Give reason.

T Viodl & Wed w1 el ® @l a1 gl oF §Hi9 Uh Wi o Wil @1 i
W U AN Yed USRS/ HRU ° FaEdl (1)

Write the significance of ciliary muscles in human eye.

oEeEE g § fueld oty &1 wew adrRd| (1)

Name the two metals that can be cut with a knife.

S ¥ uge o W fafed fo= =k g wer S o"ehar 2 (1)

When Kiran struck a metal plate with an iron rod, the plate produced
“25 vibrations in one second.” Name the term that describes the underlined

expression and write its SI unit.

S fF0 7 TF U1 F ™ FH TH Al B S8 9 a9 @ we H ‘25 FHA ufd
gferg’’ Sco=1 Ul Y@ifra sifveafsa o fow wge AW w0 €7 el WH.eTE. (SI) T
w1 A9 9 farEd| (1)




10.

A male gamete X’ unites with a female gamete Y’ to form a single cell ‘7.
(a) Name the process.
(b) Identify X, Y and Z.

T W gEEH X% TF "R THS Y o WY e W UEHd SR Z S @
(a) 39 WhRa &1 AW fated|
() X,Y,Z -+ FeaQ e? (2)

Draw a neat diagram of a plant cell and label the following parts :

(a) Cell wall (b) Nucleus
qem FRMY F TH T o TEd iR SsEd frefafaa 9w &1 t@ifea wife
(a) itgTeRT Twig (b) o (2)

Alternative question for Visually Challenged Students in lieu of Q. 10

11.

12.

Y WS 10 % WA W feafyn faamiiat & fag defes
Write any two differences between a plant cell and an animal cell.

i SHITO] GO UY] HINTR W OIS & ol wargdl

Sir Issac Newton passed a narrow beam of white light onto a glass prism and
observed that it gets split into seven colours.

(a) Name the phenomenon.

(b) Name the natural phenomenon associated with this phenomenon.

W AEEH 2 3 UEl fF W™ Y9 W &1 TE gW fedt e o 5w 9 TeRar @
@ 9% §@ of H s S 2

(a) 3@ d= &1 ™ fafed

(b) =E Whfa® ¥ w1 AW fofEd S SWied 9w Wosniia € (2)

What do you understand by the following terms :
(a) Water pollution (b) Water pollutant

= s & @Y SR
(a) <& 939U (b) & YguH (2)



13.

14.

15.

16.

17.

18.

(a) Why do we say that “Rayon is not completely an artificial fibre” ?

(b) Name the synthetic fibre which appears to resemble wool.
(a) ¥9 H Fed & BF W@ qoiea: FhHE wEe @ 2
(b) ® W WER w1 AW fafed W w @ oo gen o (2)

Give two reasons to justify that it is not advisable to wear synthetic clothes
while working in the kitchen.

“Bm FUS TRt WE W %@ T sfad T@ 217 8 SN0 waEd S Susd e
& siifaca &1 @i w2l (2)

State two factors on which the process of electrolysis depends.

fogd oTUoed (SUSICiS) i Y9ifed 3 ol < SR % AW foiad| (2)

(a) Name the structure, present in birds that helps them to produce their
characteristic sounds.

(b) How do frogs produce their croaking sounds ?

(a) 39 GEAIH AW fared o] 9emd | el ouH-su fafre st e ©
(b) Tgw AT - A HE e 22 (2)

Neha found some impurities in her pot containing drinking water.

(a) Suggest any two methods of purifying this water.

(b) State two purposes of purification.

T A AW Uged %k U § S oWNlg aWU TR

(a) 3@ S H Y& HH % [ ITF A

(b) NfgF F1 ETARA F HE A ST fArEd| (2)
(a) Give reasons for the following :

(i) Milk should be pasteurized

(ii) Pasteurised milk should be refrigerated

(b) Write the disadvantage of pasteurization.



19.

20.

21.

22,

(a) RO = :
(i) T¥ w UReHd fwEm s =nfsul

(i) "v=dpad g9 1 fFe ¥ W@ SW =mEul
(b) UmEEwT w1 ey (femugamw) w22 3)

Give reason :
“Venus is the brightest and hottest planet in our solar system.”
HRO T
“yh TR ONEed W WeW wWehien Gt T 2l
OR (s1¥En)

How does the thin atmosphere of the earth play a vital role in protecting
and preserving the life on earth ?

gedl gy Sied H UYHA 9w WUEd W ° 39k digHsd &l YfHel &l
Tewqul w2 (3)

(a) How can the properties of a metal be modified ?

(b) In what way is the homogenous mixture better than the actual metal?

(c) Write the composition of German Silver and its use.

(a) w¥gei & TN W ufadd oh® fRw S wear €2

(b) fFE w01 ¥ B woGE fHH0T # adfgw W W SUeThd  ATME  aTem
el

(c) w7 faeer (SR =@l w1 W A IR ST FaEd| (3)

List any three adverse effects of noise pollution on human health.

T @R WA YEEW % i dH fauia  (sfeRs) wwa fafes (3)

(a) Differentiate between biodegradable and non-biodegradable materials. Give
one example of each.

(b) Suggest any two measures to control the damage caused by plastic wastes.



(a)

(b)

23. (a)

(b)
(a)

(b)

(a)

(b)
(c)
(a)

(b)
(c)

Sa frefeRo (arifelieaa) don o™a e (AR-anifsicad) 9l § oK

FaEd| YAF YEH F UY T UH-UH SR fafEd|

i STufeTel | M Al s (FEt) @ HifEa % o SR & SU geed|
(3)

Name the structures that are responsible for the inheritance of characters
from one generation to another generation.

How are these structures formed ?
= Gl 1 AW fated S T N § STIell Wil H S ael aundehiad aEonl
(sTeffes fommmat) +1 wofem w2
Ig GEAT fFE YHR ad 27
OR (&1%En)

Distinguish between an amoeba and an earthworm on the basis of their
cell numbers.

What is the function of a nerve cell ?

Name the colourless plastids present in plant cell. (3)

TR fdl (T =) & 3NN T T STam] (STHian) 9o T s (31eferH)
¥ @ @ g 87

‘Fem wE' (R4 T) w1 FE F Bl 27

T HIRTH F UE WH ol CREF wifEs] w1 A fareu)

24. Complete the following table :

Microorganisms Role played by them

(1) Bowel movement

(i1) Production of Penicillin
Rhizobium (iii)
Lactobacillus (iv)

(v) Fermentaion

(vi) Act as common decomposers




29.

= arfers 1 qU sifsE

(a)
(b)

(c)
(a)
(b)

(e)

HeuSiE H AH W U A SWoaen e
(1) Ta @
(i) affafem w1 IeaRA
fstifaem (iii)
TR T (iv)
(v) fepue (HTH=TM)
(vi) YHRUA: T H

(3)

State the underlying principle on which the ‘Braille System’ depends.

How many characters are present in this system ?

Mention two methods by which ‘Braille text’ can be produced.

I TS (ST @) F YA SER F E?

T Tgfd W W Tehdrdl (ShE) # "en fwad 22

‘99 W@’ 9 H H WE 'H aren & fafeEl o A fefau

OR (31yd1)

Ram saw his grandfather reading the newspaper by holding it a little distance

away from his eyes. When he enquired about this, he was told that his

grandfather has a defect in his vision.

(a)
(b)

(c)

What is the defect called ?

Write the two causes of this defect.

How can this defect be corrected ?



26.

23

9 4 @ & 3O% RN e H Tgd 9HY SO el | P9 g W W g ™
TR W Y W IE waE T U S| ki ghe # qw oen T

(a)
(b)
(c)

(a)

(b)

(c)
(a)

(b)
(c)

(a)

(b)
(c)

(a)

(b)
(c)

M I HI T FE ST 82
Ig 39 fFd § FWOR 9§ & S =7

7% <N fog woR I fF o1 g 22 (3)

In which reproductive pattern, the zygote formed is surrounded by some

secretions along with some reserve food and a shell ?

Write the name given to the animals belonging to above reproductive
pattern.

State the three main functions of the female reproductive system.

T o fR9 1 H a9 A g (SEe) $e Al (Taseeml), g d9@fea
W iR Uw e (V) § o gem war @2

o el (Srgefl) ® SWEd YN B9 U W € 9 Y AW W W 9§02
U Yo 99 o dF g & drgd

OR (31¥4n)

List out any three changes that take place during the transformation of

a tadpole to frog.
What is this ‘transformation’ termed as ?

Give two examples of insects that undergo these changes.

Tew & d=9 (JTUd) § UeF a9 & W § B9 9 W § W A Fe
T giads sarsa|

™ FU@O KRG AW W G S ®?
T YRR * UREdl ¥ A 9 & &1 (Feed) @+ osee §fsE (5)

Vinay wants to remove the impurities from the copper spoon given to him.

(a)

Which application of electrolysis will be helpful for him ?



28.

(b) Explain the experimental set-up of the process.

(c) State any two reason for coating ‘bicycle handles’ with chromium metal.
foa o4 & @ ™ a@ h wme § 9 erfgdl w1 e smwed R

(a) Tor@ erveed (SoRifafed) =1 &M @ SHuan (Ufemerem) S oy wems anm?
(b) =g fafy o wga WA =Haeen w1 foewor |

(¢c) “‘arifgrel deed’’ & FW HIHAN o1q ¥ wfdq fFd 9 % 1§ & wROT w@rEd|
(5)

When a magnesium ribbon is dipped into copper sulphate solution, the colour
of the solution fades away and the magnesium ribbon gets coated with a brown

layer.

(a) Name the metal that gets deposited on the surface of the magnesium

ribbon.
(b) Name the reaction that had taken place in the above experiment.
(¢) Represent the reaction in the form of a chemical equation.

(d) Arrange the following elements in the decreasing order of their reactivity

series :

Magnesium, Gold, Zinec, Potassium

ST ATIREE 1 Y I R Wehe o el W geEl Sl € al siel s 7 iR
Wkl B WA § SR HHIfvET gedl WSy O % Wd S Sl

(a) THIREm g W fEfia @ SH a9 g s A T

(b) TE WAM W BH Al WideRA 1 AW Farsdl

(c) 39 wiafsran =1 woEfTe wHww fafed)

(d) = a1 &+ AR FafhANIAd o H2d ohH O Fared Hifed :

OR (31Yyan)
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(a)

(b)

(a)

(b)

(b)

(a)

(b)

Identify p, q, r, s in the following analogy from the clues given in the
brackets :

p : (Aircraft bodies) : : q (Metals used in Dentistry)

¥ : (can be drawn into wires) : : S (The property of

metals of getting beaten into thin sheets)

“All ores are minerals but not all minerals are ores.” Justify the statement

by giving one example each.

f& T WeRdl %I We®wda ¥ p, q, T, s o A Fagd

__ p__ (corSSwErsi % WM q (3a fafren & v =)
v (W % w9 H W W A R) s (el WaE ® A A
gl % o)

Yot sk wfe Ted (few) e @ dfed Wt wfie Ter e @ el
TH-TF SARW KL TH FeH H Y iRl (5)

Define the term ‘calorific value’ of a fuel. State its units. When the
calorific value of a fuel increases, does the efficiency of the fuel go up or
down ?

(i) Name the products that are formed by the complete combustion of
wax vapours and carbon particles in the outermost zone of a candle
flame.

(11) ‘Gaseous fuels are better than other fuels.” Give any two advantages

of gaseous fuels.

el $om &1 FaftfeR 9oy’ H1 uRwfad FIfew et TR w27 Afg fEe
T F FARMEE dog dg S B dl STUH! I@T ST A S
(i) frdr Aimedt ®1 o % HAG SEd 9§ W ok orSd d HEH o Ul
H qU Ted W a1 SRl o AW SaEd|
() “TW $m ot o W oTfuw =9 B 21 N Nl o wE QoW T
(5)




30.

(a)

(b)

(c)

(a)
(b)

L)

(a)
(b)

(c)

(a)
(b)

(c)

Why does a ray of light, when passing from one medium to another, take
a bend ?

How does the speed of light in a medium change when its optical density
changes ?

State the details of the nature, size and position of the image formed by
a convex lens of focal length 20 cm when the object is kept at a distance
of 30 cm.

TRRT &1 R Tw WeAm ¥ g AeAm § W H W 4g @ e @2
fordt meAy o WEWIE A H UREdd e W SH HEAH W W &I A WO
THE B 2
fFe a%g ® 20 G FEE W A S99 " ¥ 30 SH. TH W @O B
T W WideE o WER TR e feufa % e # earsd

OR (rw=m)
Mention the type of ‘in-built’ lens present in human eye.

Write the position of the image formed by a concave lens when the object

is kept at a distance greater than twice the magnitude of its focal length.
Define :

(1) Principal Axis (11) Optical Centre (111) Focal Length

for a lens.

T e ¥ fem dw fEE wER @ o 27

fordt a5 # T SEqd G ¥ SUHI BwE g0 4 g 9 afvsw g W @
T ¥ oW gW e o wiatem w1 feafa @ ew?

frdt ofm & fou fm =1 oftwrfe =i .

i) e ol

(i) I FHF=F

(i) wrFT TR (5)



31. (a) Complete the following table :

Gland Hormone Function
(i) Growth Hormone (i1)
Thyroid (iii) Regulates the

metabolic rate

(iv) Adrenaline (v)

Pancreas (vi) Lowers blood glucose level

(b) State any four points regarding the importance of physical activity during

adolescence.

(@) A9 & T afeE W oW FRE

Tifer BT fFan o aren &
(1) gfg zmMEE (i1)
CIERESS (iii) TaEE W H fEhE
w7
(iv) TSI (V)
R EIERIC] (vi) T H IEERL I O
FH HE@ T

(b) iR wfafafui & fRyiem ofeeen § w8 W &E 91 919 fafeEd) (5)



Paper -2

Maximum Marks : 80

A bulb can be lighted using a strong bar magnet and a coil of insulated copper
wire. Define the phenomenon behind this. 1
TF dcd & IO9H € Jah 9 TH ISA HIW AR ok hedd w1 TAN FLh Sl
S HEAl 2l THeh WS BN amell uieeA 1 ufifia wifsu

Arrange the three medium given below according to descending order of speed
of sound in them : 1

Steel , Air , Water
= Q@ o 99 W™ & At i A oF STUR HWed ohH H SHAEYl Shi—
A , @g , wd

List any two native states of Carbon. 1

FEA H HE A O &9 FAEU

Choose non-combustible substances from the following : 1
(a) Cloth (b) Rubber

(e) Glass (d) Brick

7 § W-<eTeie gwef 9o

(a) =TSt (b) TR

(c) <hiw @ %

When we go out, we prefer to carry our water bottle having potable water with
us. Give reason. 1

T4 B0 THE O € 99 B9 U4 WM 99 S 9 W0 UHl I 9ad ® ol S e
EG %| ch [{Y] ad|$Q|

Why are perishable food items like meat and fish covered with salt ? 1

W TE "o SE AR B Al @ oawst # e W O gl Wil 72

Define Vaccine. 1

TRTRTT w1 gl sifsal



10.

Till,

12,

13.

14.

Endocrine glands are also known as ductless gland. Why ? 1
afdq: el Rl w1 Afawfad gfum ot wer s @ =i
Enlist two observations as a beam of white light passes through a glass prism. 2

g YIFAT oF Y™ YS ok Y9 ok g 9 feed W W e ael § eTadRdl @i
geag it

Differentiate between rods and cones present on the retina of our eye. 2

B AT o AfUE W 9P WM Al B8 Td W W A T i)

Give reasons for the following : 2
(a) Colourful bands are associated with Jupiter.

(b) Venus is the brightest object in our sky after Sun and the Moon.
frefafan o wro daEd—

(a) dFeSafa @ WY T ufeed o WY g T g

(b) F H Gd 9 Wi ok G AGAA HT GIH FHHIR G HAT 2

Why does Mars have low average density as compared to the earth ? 2
T TE H XAl i S9N SiEd WM wH a9 gl @7
Give reasons : s

(a) DBakelite is used in making electrical switches and handles of cooking
utensils.

(b) We should carry cloth bags when we go out for shopping.

FO A
(a) dheEe HT GAN fasiell o 929 TH @A S99 ad 9d9 o g sAn 4 gEm fE
S 2l

(b) T TREM F@ & U S 909 FI F S@T 9F S =rEu

Give two reasons why it is desirable that a fuel should undergo complete
combustion. 2

q wRU Faed fe feEdt fm w1 b o fEBm e W& aeHE @)



15.

16.

17.

18.

(a)
(b)

(a)
(b)

Explain how nucleoplasm is different from cytoplasm.

List the main factors that determine the shape of a cell.

ren € f e Z @ eI $= W= Y YER E
HIYHT F TG K FAURG FE a0 THE FwRE  FqE

Complete the table given below

2

Name of animals

Site of fertilization

Site of development

(a) Ostrich - _
(b) Cow - _
F= & W Ao w0 wfE
g # AH™ EELU G B forg &1 =

(a)

pissetl

(b)

M

Which one of the following is a biological nitrogen fixer and why ?

(a)

Clostridium

(b) Rhizobium

= & 9 %9 Sfaw Tdve 9 9en © T #

(a)
(b)

(a)
(b)

Explain how fungi, like yeast, make the dough fluffy or soft.

3

Name the mode of transmission of pathogens of the following diseases :

@)

Common cold

(i1) Tetanus

H oo R TR AR S ddd U g I HI k¥ HEl @2
= U o HNehl oF WERU o ekl @1 AH SR

@)

S[ehTH

(ii) <9
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20.

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

(a)

Name the type of eye defect in the following cases : 3
(1) A person is unable to see nearby objects clearly.
(i1) An old person has a hazy vision.

(111) A person is unable to see far off objects clearly.

Write how each of the above defects can be cured ?

=1 g 9 effEl % SN %1 W SdEu—

i) ww = 99 &I 9% & HWE T8l @ @l

(i) Tk gt AfE w1 guen REar 2

(iii) T =af|@ R ® I S 9% & @ U@

Fmee fF FW fw MU odw w O FE I R w1 mwar @2
OR (&%)

Name the part of the eye which regulates the amount of light

entering into the eye and how.

Arrange the following resources/aids as optical and non-optical aids:
(1) Telescopic aid (i1) Lens

(iii) Braille (iv) Tape recorder

d@ H SE AW H AW §ad S M@ W OYEA Al YRR &I O
frfm @t 22

e geAteE W gfe et eiR fem gfie et dl o omERem wio
(i) feerids  tsw (i) <

(iii) > (iv) Z9-fehrey

Write the metals used as anode and cathode during electro refining of

copper. 3



21.

oLyl

23.

(b)
(c)

(a)

Name the solution that needs to be used during refining of copper.

Explain why solid silver nitrate does not conduct electricity while silver
nitrate solution does.

did w1 faga feEfm o e AR See WO g o oig 1 AW Sarsy)

(b) da = fogm fwEfm & wwm BW I W@ w1 AW F@Edl

() ¥ wmem f& S faeer AEge foaga &1 y=R &A1 & &, fhg oo
T F WA FA Bl

(a) Categorise the following electrolytes into weak and strong electrolytes:
Sodium chloride solution, Oxalic acid, Ammonium hydroxide solution,
Copper sulphate solution.

(b) Name the two metals used as the positive and negative electrodes in
a voltaic cell. 3

(a) Fm= foga eroweai &1 faa o wa@ faga emawea o ofipa i
Tfeqd FANEE WA, Aok 306, M99 TESEWES Mo, HIMW  Hehe
o

(b) difeess ¥@ H I TN WMOTHS fogEd o fau wgE B 9w OTget
& Am fafay

(a) Differentiate between metals and non-metals on the basis of : 3
(1) Tensile strength (i1) Density

(b) Compare the reactivity of potassium and iron towards water.

(a) ¥ TA Ouge H W T & FgER auEu-
(i) dFar deRd (i) [«

(b) URfEm T @R ®I UM % W AfNfRw A w1 wiE & qEEm wl

Explain how agricultural wastes harm the human body and aquatic life. 3

Tt % = Y WHH THN YN A SAd Sied ] e ugeAd 8?2

OR (31%Er)



24.

2.

(a)

(b)

(a)

(b)

(b)

(a)
(b)

Enlist four methods that can be used to make water safe for drinking

purposes.

Name any two water borne diseases.

R uE fafual saEd fomer STEm | U F 9E oF SEvd 9 gifed S S g
2

Rt e 11 e B 1 0 A 2 e Ol | B e o

Flame of a burning candle goes off, when we blow over it strongly. Give

two reasons. 3

Name the type of combustion when combustible substances catch fire at

room temperature. Give one example.

Th Werdl g2 HEel i Same oS 9 gal thehd W oF Widl 21 {1 HuT «dEy

S U SHoMviiel o%] FH{ o AI9HM § M Ukedl ¥, $@ Wd @ T@d &l M

IAd| TEH ISR S

From the following box, identify the organells found only in plant cell and write

one function of each of them. 3

cell membrane, cell wall, nucleus, large vacuoles, plastids, mitochondria

= § 9 had URY WIRER H U@ WM A Sl e R Uois 1 Uh
AT

e fooett, wifven fufa, shse, af Riorwr, s, OEHig

(a)
(b)

(a)
(b)

OR (&%)

Mitochondria is called the power house of a cell. Justify the statement.
What happens to the chromatin when the cell is ready to divide ?
TEEHIGA T HIHE F OETE FE T@ R ITW FET H RSO L
FUfE H PN B 7 WA wvE fAWSH % fAu TR w87
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27,

(a)

(b)

(c)

(a)

(b)

(¢)

(a)

(b)
(c)

(a)

(b)
(c)

(b)

Suggest two conditions under which no change in the direction of
propagation of light ray would take place when it passes from one medium

to another. b}
Define principal axis of a lens.

State the nature and size of an image formed by a convex lens for which

it is used as a magnifying glass.

Tt 31 uRfeefoal aad S@ e w1 R uw AeAd g Wemd ¥ §H W
fean § @ wRoma Wegw el w

T i w R

fafams o YR A2 SR % 9 H sy, 9K I9d 9 ®1 AEdE o " # we
W feEen w2

OR (31y4n)

Absolute refractive index of medium P is 1.5 while that of medium Q is
2.2. In which of these two media, light propagates with a lower speed ?
Give reason to support your answer.

Write the nature, size and position of image formed by a concave lens.

State any two applications of a spherical lenses.

e P 1 0o gueie 1.5 9 Weam Q &1 2.2 | TH ¥ feed g Y
Tfa e geire

HEd o9 § a9 9l Widfas 1 GEN, AN o €M aq|

TR @6 o HE & SFIUEN FaEul

Give reasons : 51
(1) We hear the thunder a ‘little after’ seeing the lightning.

(i1) There may be many “explosions” and “noises” taking places in the
outer space but we do not hear them.

A honey bee completes 3000 oscillations of wings in one minute. Find its
frequency. Can it be detected by human ear ?



28.

(a)

(b)

(a)

(b)

(e)
(a)

(b)

(d)

(a)

FT AT

(i) =9 favcl e o o€l < 9" SEs! T g 2

(i) =ed Ry ¥ 9gq ¥ favwie 9 =@ =dl M ofed g9 3= g9 @l Ul
Tk AYAFE % U@ Th e § 3000 oA Gl wd €| SUh! sigha ekTiery) @
T ¥H HME SF 9 G T @7

Write the following metals in the decreasing order of their reactivity :
Mg, Cu, Fe, Ca b}

Some zinc granules are added to dilute sulphuric acid taken in a test tube.

Another test tube is inverted over the mouth of the first test tube.

(1) What will you observe in the first test tube ?

(i1) What happens when a burning splinter is brought near the mouth of
the inverted tube ?

Write the balanced chemical equation involved in the reaction.

= &1 wfaforamefierar & weq w9 o foe-
Mg, Cu, Fe, Ca

5% & w0 T UeHRE TEE ¥ TH WaEdel ¥ e ©) SO WEAd! 39 U

W SE F W R

(i) 9 Ueell WEAS! W P AdArFA HT?

(i) & 3@ TEAH o He o U U ol gg diell @i widt €, a @ e
27

39 uferar &1 ddferd TomRts e fod|

OR (31Yy4n)

Write the non-metal used as :

(i) an antiseptic (ii) a cutting tool



29.

30.

(b)

(e)
(a)

(b)

(e)

(b)

(e)
(a)

(b)

(c)

(a)
(b)

Amrit was given a green coloured solution of iron sulphate in a beaker.

He added a few pieces of magnesium ribbon to it and observed the change.
(1) What is the change in the colour of the solution and why ?

(ii) Write the chemical equation involved in the reaction.

Gold and platinum are used for making jewellery. Give two reasons.
#H W oemu e § wEm e @2

(i) TUF A & awel gal (i) EA = SR

AHT F A Tehe F W W H U @ e sEH SwH Ffeem fed
TP THY T IR ThH GEoE A TR

(i) el o T H FA a€eE A SN

(i) =9 wferar =t THEfFE wHRw fael

A9 9 wiferm § TS a1 g1 g SR Fard

Nylon is used in carpets, socks etc. items. State the reasons behind this.

Categorise the plastics given below as thermoplastics and thermosetting
plastics :

Terelene, Melamine, PVC, Polystyerene

List any four advantages of synthetic fibres. b

AR ¥ A, S gefE S ST €1 SEeRl IO STl
e 1 odienfes TE AT wiies | oaiet wmi-
FEM Wi # FE AR FES Fq)|

Explain why is earthworm known as hermaphrodite animal. D
Arrange the following in sequential order based on life cycle of frog :

Tadpole, Embryo, Adult frog, Tadpole frog

e BT i Lo sl Lo d W



(c) Label A, B, C and D in the following diagram of male reproductive system
of human being.

(a) hgem &1 fgfeam = e s 22
(b) Wewk FI Sad @k H = fawm & =i w wE wW A faft@u-

i 2wl _J=T 2

(¢ = ¥ A, B, C, D Fmisd Fi—

¢ B

OR (3¥a1)

(a) Describe the difference between binary and multiple fission.

(b) Compare direct development and indirect development with one example

of each.

(c) Name the part of female reproductive system where the growing embryo

gets embedded.



(a) w0 fomed @ Owivd f9@ss O &< W= &l
(b) JAWY T WY faH™E FT TN F F TAF H TH-TH RO 3|

(c) W WorF o ¥ fFe B A wea gam yw ¥W Wi @?

Alternative question for visually challenged students in lieu of Q. 30 (c)

31

gheafya faadial & faq we @& 30 (0) & ©F W awfess 9w
List any two functions of ovaries.

SR F A FH TN

(a) The voice of a child is high pitched before puberty whereas it becomes

‘deeper’ when he goes through puberty. Give reasons. 9

(b) (1) Define hormones.

(i1) Name the hormones secreted by male and female reproductive organs.

(a) TF a® H O [HUN EEA ¥ To@ S99 o |H F S 8, wew ol
o FFeiR e § 3 © SUS! e TEd 8 Sl ®1 wRO sl

(b) () @W w gREfE w=

(i) T wd W YA 3T 9 Heed ol g ST M Sard|



Paper -3

Maximum Marks : 80

1. Observe the following figure : 1
Bell Bell
Air Vacuum
Case (1) Case (i1)

When both the bells are set ringing one after the other, no sound (of ringing
bell) is heard in case (ii).

(Give reason for this observation.

| U4 I
%4 (i) F9 (i)
9 2 IR H ST H TH ok WR UE a9 W @ dl ohd (i) W S H 3yens

TAE TS S

B2 3R T B adl$‘il

Alternative question for visually challenged students in lieu of Q. 1

Why do we not hear the sound of a ringing bell present inside an evacuated

container ?
feeami & fom g 1 & WA W dwfeus wwA
=W s quiaan fied fvd 79 = # Wl g2 ool g2 WS &A@ gAE F@ @l odl 87



=1

The ends of the two wires of a continuity tester are dipped in distilled water.
Will the bulb of this continuity tester glow ? Give reason for your answer.

T s e & S aX o ol 6 ergd Sa ® @ w21 Fn e wders
1 dod S ? A9 3w w HRu faf@n) 1

Some metals exist in nature in the form of their compounds while some exist.
in nature in elemental [ormm. Give one example of each kind ol such metals.

e Uil yofa § Afis wu § wf widl ¥ vafh oo @ syl s storar § g
T 21 TH I TER W dgel F TH-TE ISRl A 1
Suggest any two ways of conserving water at the individual level.

A Wew F Al TR W T W g awl i S fafwal geme 1

State the condition under which a piece of wood, present in air, can start
burning.

B W W@ g Th ARl F1 Thel fwg fefd H Sor U Y Eehdr @72 1

Mention the outcome if a human ovum does not get fertilised by a sperm.

qarsd| 1
Stale the unique [ealure ol viruses.
qEHY sl Sl faRivdl ddisdl 1
State the role of hiological nitrogen fixers in nature.
Tpfa § SAfaw TEaew feewd 5t gfiten @ e 22 1
The following table gives the values of speed of light in four different media:
Media Speed of light
Diamond 1.25 x 10% m/s
Vacuum 3 x 10° m/s
Ordinary glass 2 x 10° m/s
Water 2.25 x 10° m/s




10.

11.

(a)

(b)

Which of the above media has—
(1) least (11) maximum refractive index ?

Arrange them in increasing order of their optical density.

3 W fafus oo ¥ et S M &1 TH @ UER B e

(a)

(b)
(a)

(b)
(1)
(i1)

HIeAH YehTSl 1 TR
AR 1.25 x 10° m/s
bR EE I 3 x 10° m/s
stem 2 x 10° m/s
B 2.25 x 10° m/s

(a) S Hifewr o 9 fhus udds gawis

(i) = (ii) @fama 372
(b) 3w Hifsan &1 3Tk INfehad ¥ o d@d hH H oHafeefd sl 2

Name the part of the human eye that—

(1) 1s responsible for the characteristic colour of the eye of a person.
(1) gets self adjusted in size in different light conditions.

Where is the ‘blind spol’ of the eye located ?

AME @ % IH WA 1 AW FaEd S

(i) Frdl wafd =) sif@ 1 @ fuifa w2

(i) werrel &) fafuy= feafgel § s smer &l w@ifquifa w0 d@d 2

A StE 1 e (S ie) I9W #E g €7 2
Enlist any two tasks performed by artificial satellites.

State the advantage of the ‘same position’ of geostationary satellite relative

to surface of earth.



(i) oM 3wEl s fee T fFel < w@E w1 gaEg wial
(i) 7ot = T & Tmy g-fer s W ‘vw @ fafd’ ws w1 o s 2

12. (a) Draw a diagram showing the position of the pole star relative to carth.

(b) Name the constellation in which the line joining its two ‘pointer stars’

points in the direction of the pole star.

(a) Yt oF TNY ya TR H fafa @M a9 oRE TR

(b) =H dwmHed H1 ¥ fafed faues q gos a0 H1 AT delt T gd qu H e
F1 A 2 2

Alternative question for visually challenged students in lieu of Q. 12 part (a)
State the main feature of the pole star that makes it different from all the

other stars.

feeimi & fau 9 12 (a) & WA W dsfeus 99
¥ R HI 98 HBH @ qA favwar € S s o weft ani ¥ 3 il €7

13. Fill in the blanks in the following flow chart :

SYNTHETIC FIBRE
Types
| |
| Rayon I Wonder Polymer PET

Raw Also known Full form

Material ‘ as
|(i)— I |(ii)—| |(m)—|

One use

(i) —————




frafafaa gae o o foa o w1 af@-

ST HIER
PEAL
l ¥
R CIE] | AzadeHE HIZH
Feal T S L] R

v h
[H——] [Gi) ——— |(Gii)—————]
T IYAN
lGiv) ——

Alternative Question for visually challenged students

in lieu of question 13
Give answers for the following :
(1 Raw material of rayon :

(11) Other name for wonder polymer :

(111) Full form of PET :

(zv) One use of PET :
feemt & fauw w1 13 & WH W dwfeas g
frafafaas & s fafeEa—

(i) A F1 F=M TG :

(i) =St diefwy w1 g AH

(i) 932 &1 9U 99 :

(iv) WA =1 uH SUET .




14. Give reasons for the following :
(1)  Outermost zone of the candle flame is its hottest part.
(11) Midddle zone of the candle flame i1s yellow in colour.
frfafaa = #rm @R
(i) Hiwad &7 Soren i WG WA SEhl G99 afud T WM g g
(i) wHEd i Solel st W WA kI W dien B 2 2

15. Draw a neat and labeled diagram of an animal cell and label / encircle the
organelles responsible for :

(1) cellular respiration (i1) transport of materials in a cell

T3] 9ol 1 Tsh W qA1 Wifhd @ d9Ed| 596 34 9 &l ea/afid & &t =
qAd T HwE FW o
(i) =R v (i) W o "l &1 afEed| 2
Alternative Question for visually challenged students
in lieu of question 15
Name the organelles responsible for :
(1) Cellular respiration
(11) transport of materials in cell
(ii1) capturing food in case of Euglena

(iv) imparting colour other than green to different parts of the plant

et & faw w1 15 & WA W Awfoyw e
FIHET o 3T 9w Hw AW @ s FEfafes s wW@ g
(1)  HIeEHE ToEA
(i) =@ & @it o1 ufiesd

(iii) Frefr & wisH o %01 i THhEdl §

(iv) 9 o fafg= ami § &8 @ 9 = o= W @ 2



16. Label the parts shown in the given figure of human female reproductive
system.

(11)

= fe3 W™ AEdE A s gonel o faw # fafiy= ami o 9w adred

(i1)

- (1)

Alternative question for visually challenged students in lieu of Q. 16
State one [unction of :
(1) enzyme produced by tip of the head of sperm in humans

(11) hormone produced by human female ovaries



17.

18.

e & fau yva 16 &% WM W defcas 91

frfafaa 1 & ®E san-

(1)
(1)

(a)

(b)

(a)

(b)

(a)

(b)

(b)

UFEE IEh] o faR &t 9 9 3drcd Ul

qFad HEl HASHE g Iied 2|

Why is non-completion of prescribed courses of antibiotics considered

harmful ?

Name any two microbial infections that are treated by antibiotics.

Yesiferr (Tamifea) et &1 fuifa 7en & @@ ged T fEa S eiTeRe

= HET ST 7

yfqsifaes enst (TemEifesm) g Su=ifa Ry SH el o=l < Agshifsae Gwqol
o+ 9m fafe3) 2

State one special feature and give one example each of :

(i) tactual aids (i1) auditary aids

used by visually challenged persons.

Suggcest two precautions that help in ensuring that cyes don’t get strained.
I e wefom =afsaal g0 wam H @R ST S

(i) amRe weEs (i) @9 HeEHh

SYRI ol Uk foRlual den U 39 fafigd

FE UH F gEuEl Saed SositEl & dETE 8F 9 98 % ¥ WeEE d
T T 3

OR (&1ygarn)



Observe the [ollowing diagrams of human eye carelully :

Rays from

distant object 25¢m

(N~
\\L—

NN N

Case () Case (ii)
(a) Name the eye defects shown in case (1) and case (11).

(b) Name the lenses that can he used to correct the defects in each case.

(c) State the range of distinct vision of a normal human eye.

9 f@ ™ 99 ok feE W eamgEs <fed

freft 9 @ 3 A
et g8 e 7@ 25em
A )

Feot ) feetfd (i)
(a) 3+ feafml & fem ® sit@l & i &1 4w fafe
(b) =& w % FH A oW F AW wEEA|
(¢) UHh UMM HFG i@ o fafyre gfes &t G san)
Alternative question for visually challenged students in lieu of Q. 18

(a) Name the three main kinds of eye defects.

(b) How can these defects be corrected ?



19.

20.

feait & fau 9v 18 & @WH W A%feus wvd

fr=fafaa &1 s wd wai—

(1)
(i1)

(a)

(b)

(a)

(b)

(a)

(b)

(c)
(a)
(b)

(c)

el ® TF 9 dF wgE qm o+ Am fafed
3 QO Hl dFk wA Hi fofeEr s

Categorise the following electrolytes into weak and strong electrolytes :

Sodium chloride solution, Oxalic acid,

Ammonium hydroxide solution, Copper sulphate solution ox4=2

Name the two metals used as the positive and negative electrodes in a

voltaic cell. Vo+lho=1

=1 faga eaeedl &1 aa qen yao foga o1ueed (Soaeensed) | Jiiehd shifsd—

difeaq seliize diel, dlasifersh 3He did,

I TRESEFREE WA, FIR Tohe T
difeess T | oFIHE q TONHE foTEm (Seiagied) o fou g e arelt srgst
o 9 fafazi

State any two uses of chrome plating of metals.

Name any two metals extracted from their ores through the process of

electrolysis.

State the underlying principle of electricity generators. 3
g W A W ®H & HIE & S9N Sared|

SORIATTY &1 Ufhdl N AT 1&%h] ¥ el M arell & Jigsll o6 A sded |
foed S o1 Adaffed fagid saEdl



Complete the following observation table based on physical properties of metals
and non-metals :

Activity Observation Physical property
(1) Strike a small piece (1) (iv)

of zinc metal with a

hammer.
(11) Take some hot water (11) (v)

in a beaker and place
one end of an iron rod
in it. Carefully touch
the other end after
sometime.

(iii) Take some crystals of (111) (vi)

1odine and beat them
with a duster.

-

g3l SR TGS oF Wifde TN oF UR W FEfAied STaes diferR 0 hifsE—

Tifafafi SfereTeh s Tor
(i) & ug & B IHe (1) (iv)

W EAEN W W &1
(i) dffery & W 9t o @ik (ii) v)

w1 TE e =wEl 9l

[ aR] T e A
ZIEPCE
(iii) o & foea & (111) (vi)
AT 3T W T A
e gam| 2

OR (31¥En)



22.

(a)

(b)
(a)

(b)

(a)

(b)
(a)

(b)

(a)

(b)
(a)
(b)

State whether hydrogen gas is liberated or not in the four reactions listed

below :

(1) reaction of zine with potassium hydroxide

(i1) reaction of phosphorus with concentrated sulphurie acid
(iii) reaction of iron with hydrochloric acid

(iv) reaction of copper wiith nitric acid

Ilow is evolution of hydrogen gas in a given reaction detected ?

7§ wasd [ (efatad =R wfafrast o gEgem 19 Wl el & SA"er wel
(1) vRREW eEgEs & |y S S kit

(i) wowrfeh sra o W9 WEHRA &1 wfdfwan

(iii) eIEeadilier ol o WY @l &I glidfchan

(iv) -isfesr w1 o g did &1 wfdfseen

§ T yfaferar F TESSA T % YId B FT A kY oAl Wi 82

Enlist four methods that can be used to make water safe for drinking

purposes.

Name any two water borne diseases. 3

=Rt fafimt saed S ST @ ot S i S IRe o gifia sAEn S s
2l
MM THET T " BM a3 | |l o T fafadl

Give two reasons why it is desirable that a fuel should undergo complete

and controllable combustion.

State the parameter that rates the efficiency of a fuel. 3
T FRor wad fF e Sem w1 gl ol e <ed #= A @2
U hi &l 1 (AUNOT T 9 9ESUS T AM wdsd|




24.

25.

Differentiate the two types of endoplasmic reticulum on the basis of their :
(i) appearance (11) function

Also state the reason for their observed appearance.

T YR o TSrahns feFod &

(i) ¥@&Y q«Aq (ii) =
¥ @ ddEdl EHiad @eY &1 wRo 9 fafed) 3
OR (31914n)

Give reasons :
(1) Nerve cells possess a long fibre like structure.
(i1) The cell wall is an important covering in plant cells.

(ii1)) Cell is the basic structural and functional unit of all living organisms.
FRU qAH :

(i) B FIREW o9 FEE ® e TdEd et o

(i) Wt afcr dief &1 Sifse s ggwgel SR 2

(iii) ¥@ @i Sifaq Sfiai &1 giEd geAers R wEfds 3HE @)

Comment on the followings statements :
(1) Pasteurised milk needs to be stored under refrigeration.
(11)  Vacuum packing is ecommonly used for storing nuts.

(iii) Food mustbe properly prepared and stored.

fefafad weo @ feoui wifsg .

(i) w=TEse g9 W ueiew (AFpR) § W v w2

(i) Frafa S (degm Afeh) wremvdar Ja (g€ we) o Herur o faw wann 1 S
%l

(i) @M @ fafaqd® AT 9O WeRw ST AEvdd Bl €l 3



26. (a) A pond appears less deep than it actually is. Give reasons.

(b) Complete the ray diagram :

wident ray

Glass Slab

(¢) Enlist two observations as a beam of white light passes through a glass

prism.

(a) 2 aoTE AT ARdfaE TR W OHH TR REE @ 21 FRU i
(b) TTU 3@ <kl QU wHitSE—

\ch’mﬁm

7irEl & ufear

(c) THS UIHT o YHWI IS o M9 & 50 § e W 99 8F ae & TaaieHl
H gAEg wifed| 5

Alternative question for visually challenged students in lieu of Q. 26 (b)

Define the term emergent ray.
fgart & faw v 26 (b) & WM W Awfead T
sTfawfet (wawste) famo 1 ufsfom i
OR (1eran)

(a) Draw a ray diagram showing the formation of image by a convex lens
when the object is kept between its optical centre and focus. State the

nature and size of the image formed.

(b) State any two applications of spherical lenses.



27.

(a) Tt e *1 th &3 ™ U@ 99 & gfe &x (siifewa &=) da wHd
W W T B 39 fefd W a9 o uidfa o fon Ywifas wmed) e 9
yfafena &1 GHR a9l SAHR hdl Bl ©?

(b) TR @ o & A FEAN T3]

Alternative question for visually challenged students
in lieu of Q. 26 (a)
State the nature and size of the image when an object is kept :
(1) at the 2 F point of a convex lens

(11) between the optical centre and focus of a convex lens.
el & faw 9 26 ()  TE W Awfedd Y
ufdfaral o WHR qO1 BN oh 9N W waEd dfc O H fEd S99 o™ oh-

(i) 2F fag ® @ ™ 2

(i) e g (3feHha =) T BT & A Wl T 8l
(a) State any two ill effects of noise pollution on human health.

(b) How do people wiith hearing impairment communicate with each another ?

ic) Define the terms :
(1) infrasonic sounds

(i1) ultrasonic sounds
(a) WMA W W I YUl o6 his & FHHM SdEdl
(b) &H W AW @M AUE § HaE hd #wd 22
(¢) (i) omaEa (sTrEf) et
(i) oqerEd (STdwieh) eatEn
gRefa wifs) 5



28.

(a)
(b)
(c)

(a)
(b)
(c)

(a)

(b)
(c)

State the parameter that defines the reactivity of an element.
Explain displacement reaction with an example.

Give reasons :
(i) noble metals retain their lustre for a long time.

(i1) pure gold is generally not used, as such, for making jewellery.
Tk dwd sl GfAfehameierdl 1 THefed 3 o AFee 1 9M «dEd|
T 3 & Wy farermm ufafen =+t =men #ifss)

FRO TAEA

(i) e ugstl wl THe o GHF a9 @dl ®dl el

(i) Yol G T H SR 999 o fau qEmeeen yged T8l feEr S 5
OR (3t2an)

Match the metals, or non-metals, listed in column A, with their uses listed

in column B :

Column A Column B
(1) Iodine (1) batteries
(i1) Platinum (i1) aircraft body parts
(1) Silver (111) electrical cables
(iv) Graphite (iv) dentistry
(v)  Aluminium (v) antiseptic
(vi) Copper (vi) high precision electrical contacts
in computers

State the advantage of stainless steel over iron.

Write the composition of German silver.



(a)

(b)
(c)

(a)

(b)
(c)

(a)
(b)

(c)

sictH A W feu U wigell stgar stuidsdl o1 faed siam B A KU 1w 396 Syai
q =ifa
wHieM A FaH B
(i) emEE i) ==l
(i) A (i) BAESESI & N
(iii) =< (iii) ot ®1 AR
(iv) TohTee (iv) g7 fafean (=)
(V) TgEEH (v) WY Ay (TEEfe®)
(vi) dre (vi) ¥R o FH e TR F A

I W & Al ¥ sl d@l WEl Sl ©?

S foeer wW @ oage & fmo @ a2

“Plastie 1s harmful for environment.” State two points in support of this
statement.

List two measures to control damage caused by plastic waste.
Ihfferentiate between hakelite and polythenes on the basis of :

(1) arrangement of monomers in them

(11) effect of heat on them.

“wfed dEERT o fau eifteRe @17 39 &A1 gfe B 4 dua fafad
wfed A BH ant wfE o a9 % 2 ddes @aed|

Jhese 3R WelfH ¥ 7 i & ER W A@ Sy

(i) 399 AW & e

(11) 9™ <1 39 W W9 5



30. (a) Arrange the following in correct sequence of stages of their development:
Infant, embryo, zygote, foetus

(b) Differentiate mammals from amphibians on the basis of the development

of their young ones.

(c) State the meaning of the term “indirect development”.

(a) Tr=fafga st =t foem & =i & el wn § fafed .

R, 9u (Wiew), oA (SE9e), wHardl (Taue 1)

(b) wWAuRE wd I9gEl &) 39k W (U oFH) o (ohiEehH H Il 3 87

(c) ‘‘swer famm! w1 o1d Ty wifww) 2+9+1=5

31. (a) Complete the table as per the given directions :

Name of the Name of the Funetion of
gland hormone scereted the hormonc
1. (1) (ii) Growth and

development of body

2. (111) (1v) Onsct of meta-

morphosis in tadpole

3. (v) (vi) Lowering the blood

sugar level

(b) The phrase ‘Just Say No is a part of ‘Say No to Drugs’ campaign. Comment

on the aim of this campaign. (State any two points).



(a)

Ja T arferer w1 fdER 9@

Teft &1 M Tl ¥ o 9 BAN &1 &
TEM &1 AW
1. 1) (ii) IR 1 faewE
2. (i) (iv) dSUlel H HETIeS
S PHA
3. ) (vi) = H UER S A
I

(b)

(a)

(b)

(a)

(b)

Sy fam @ oFE (‘'S ¥ A) Y‘ars wgdl w3 w2 (‘8 A 2 g™

fiEm w1 WM B T AfaIE % i @ Hewyu ged/sevd sdiEd| 5
OR (=1%r@n)

Describe in detail the following changes that occur during puberty :

(i) Change in voice

(11) activity of sebaceaus glands

Explain, how the sex of the child gets determined when the ovum gets

fertilised with the sperm.

Tl ¥ g o frefafed 9ieda 1 v ifed

(i) ofEr d <9<

(i) s ufwl =+t wfafafesr

e HifsE : efeRE qen YR ok e gR1 B At g o fom ke freifa
& S €2



Paper 4

Maximum Marks : 80

Deafness implies total hearing impairment. Name the technique used by total

hearing impaired (deaf) people to communicate with others effectively.

TE w1 Ad YU gEUEED B AW emal gwifEd (SEY) SAfEEl g el ®9 9
T o WY HaR FH F AT gEM w1 S dre ddAres w1 9 fafa 1

Acidified water is electrolysed by using graphite electrodes. Name the gas
produced at :

(a) Positive graphite electrode (Anode)
(b) Negative graphite electrode (cathode)

STEeRd AT 1 foed sTaeed (SUeRifarad) UWEe SISl o1 ST Ik TRl
21 W U § (a) T a9 (b) FUe W figen Ot W % AW FdEu 1

An alloy, having aluminium in it, is used for making aircraft bodies. Write its

name.

o fafya o, food teafafem ga 2, &1 ST eaiserst o @ s M fRer s
2 39 fufsa oig w1 AW fafEd 1

Name the two major sources of water pollution.

It o YO & R Y@ Sl o A faftadl 1

Identify the type of combustion that takes place when sodium is exposed to air.

T § W W difesm & Safed 8 W % €89 #1 YRR 1 Feard 87 1

Name the gland which controls the secretion of testosterone from the testes.

LM (FUU) ¥ TRRAE TN oF wE i i wW Aty owroam faean 1

When do viruses show the characteristics of living organisms ?

faom] weite (She Siqefl) o fo9w @ %e gw 82 1

Name the disease that caused the Irish Famine in 1740-41.

39 FHA w1 AW fafed S 1740-41 H SAE ARG T RO &A1 1



10.

11.

12.

A ray of light enters obliquely into water from air. How does the ray of light
bend in this case ? State the reason behind it.

TE H TH RO w W WA A fRS vew s ¥ oTW i ¥ wwmer w1 R
w8 et 87 TEe wnw off Tard) 2

The retina of the human eye has a large number of light sensitive cells, known
as ‘rods’ and the ‘cones’. State the main function of these two types of light

sensitive cells.

M @ & gfe ved () W T’ a9 ‘HA T ¥ WH WH Al STEE T

Geevie] ShITTehTd Brdl €1 3 S YN i Wb Hog-wiiel IR & qEd wd Sl
2

Identify the following :

(a) The planet having largest number of natural satellites.

(b) The comet, which visits the earth every 76 years.

(¢) The third brightest star in the night sky.

(d) A constellation shaped like a (distorted) W or M.

freffea s Te=H Wi

(a) a9 Afu®w Upfaw I9UE =T TR

(b) ¥Eehq /iU W YOE 76 Wl a5 AR H g9H B gl

(c) TG o W H AHU T8 FHEHA qWI

(d) T A (AUETSH), S ST o e W arger ‘M & fane (fasa) w9 S
fead 2@ 2 2

(Geostationary) Satellites have revolutionised communication. How do they
perform their task ?

(vq-feorfa) SwEl 3 WOR o & § bt @1 & ¥ IWE o & R WeR &

7 2



13.

14.

15.

16.

A silk like fibre X’, made from wood pulp, has properties similar to those of
(natural) silk.

(a) Name the fibre X’ (b) List any two uses of fibre X’
(Wihfaw) WM o A O ol UH W X GRSl I ol ¥ S S 2
(a) 3@ W (FER) X & 90 Fa=dl (b) 3@ W & & I WM fat@d 2

Give reasons for the following :

(a) If the clothes of a person catch fire, the person should be immediately
wrapped in a thick blanket.

(b) DBurning of coal and diesel causes acid rain.

ffafed & RO FdEd—
(a) dfg frdl =afed o ®uel &1 & o Wl 8, @ S8 T He shed H el S
Bl

(b) FFd AN e F SR T ARy (acid rain) #1 FROT S99 W@ gl 2

Mention the name and size of :

(a) The smallest cell in the living world

(b) The largest cell in the living world

/= & 99 iR HR F A H -

(@) & R F TR DR B

(b) oSt 3 w1 HEH FE R 2
A new individual can be formed from a small protuberance arising on the
parent body.

(a) Name the type of asexual reproduction in the above case.

(b) Name two organisms that reproduce by this method.

S9F YR W I O TF SR G AR 9 TF @ Sid H1 @A ' GFEAl e
(a) TUY 3ifieh SoA &1 99 aarEdl
(b) WY = & & 19 adEd, St 36 UK ¥ TS S el P
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18.

Vaccination is an important way to build immunity.
(a) How does a vaccine produce immunity to a disease ?

(b) Name two methods of administering vaccines.

I f@ue wfEm T % T A T weEyn ImE 2

(a) de1 TRt AR % fa wfedved kY S W@ @2

(b) B HH H W IUE SarEdl 2
Eyes are our ‘windows’ to the world; it is, therefore, very important to

take good care of them. Suggest any three precautions to ensure proper
functioning of human eye.

Are g & fou sudl ‘TeefeEal’ €1 sHidu STl =S d@Wid W S gd

Hewqul €1 HAE A@ % Sfad wHeN &l geieed e % fag &g de

qreafal gz 3
OR (31yan)

A middle aged person is not able to read a book when it is held

somewhat away from his eyes.

(a) Name the eye defect, from which he is suffering.

(b) State the two likely causes of this defect.

(¢) How can this defect be corrected ?

TH AR AF w1 Al AT i@ § FP g W W g &l UG
B

(@) 3@ 9 =W &1 AW fafgy, fwww = difga 2

(b) T T
() 3@ =M

AT H T Hfad FROT FaEyl
o

fFg YRR 9% fRW W1 G&dl §?



19.

20.

21.

(a)

(b)

(a)

(b)

Define the terms :

(i) electroplating and (i1) electrorefining

Name the cathode and anode used in electrorefining of copper. 3
(i) foga owa iR (i) forgm wiewenr &1 oftefoa i@l

dd o fogg W § yged € 9@ UlE SR wie & aw fafed

Describe an experiment to show that we can get electrical energy by using

a magnet.

TH TH WEAN w1 9v wifee W a8 Ram € R o'W guaw w1 SwEm s
fogd e Ww W WHd R 3

(a)

(b)

(a)

(b)

Arrange the following metals in increasing order of their reactivity :

Al Pt Cu Na

? ? ?

From the following displacement reactions, which one can take place in

actual practice ? Give reason in support of your answer.

(i) Mg + CuSO4 — MgSO4 + Cu

) Cu + MgSO, ——> CuSO, + Mg 3

frafafed wrgefl =1 STt sAfufshen amar goft & @gd W H fofEw
Al , Pt , Cu, Na

FratarEg foemms formeti & =9 W foran andtas =@ER @ 9edl g2 o™
I o A d wnor fafed .

i) Mg + CuSO4 s MgSO4 + Cu

(i1) Cu + MgSO, —— CuSO, + Mg



22,

23.

24.

25.

Enlist any three changes in the normal properties of water, which can be used

to recognise the presence of pollutant in it.

I o W O H Rl UH T uREddl & gEes # Al TE 9El ¥ OuEEE

F IufeAfa w GHH U TR W TEA@ 2 3
OR (3Ay4n)

Suggest any three simple steps that can be taken, to avoid wastage of water.

I # o&E (FER) A % fou, $E 9F Wa SUE gEidl

Mention the three conditions that are necessary or required for combustion.

T (SOIEll) WO w3l Woid ®©d o Tl dF SfevEes feufaal aasdl 3

Write the function of following parts of a cell :

(a) Cell membrane

(b) Smooth Endoplasmic Reticulum

(c) Leucoplasts

Fifvw o FeAfafea feedl (amm) & w@ fafew .

(a) hiferr faeeit

(b) Tl ®wE Fe Sfas (Smooth Endoplasmic Reticulum)

(c) TS 3
OR (&ivmm)

Write any three differences between a plant cell and an animal cell.

TH UET HIGERT AR TH W HIVER W OHE dF st fered

Give reasons for the following :
(a) Jams and jellies are usually preserved using a high concentration of sugar.
(b) Milk is boiled before its use or storage.

(c) Foods, from puffed or enlarged cans, should not be consumed. 3



26.

ffafed & #Ro waEd -

(a) W SN Sl wE: orcdfush Wil gW ufRiE R s @

(b) IU K FAT A WIE HW ¥ Ted I W@l

(c) ol BE, o R H 9= § &g g0, fo=d & @@ w=ref &1 9aq T foan
S =fen?

A lens forms an erect, magnified and virtual image of an object.

(a) Name the type of lens

(b) Where is the object placed in relation to the lens ?

(¢) Draw a ray diagram to show the formation of this image. b}
TH oH TR aw w1 HiWl, e (R § ower) SN Snwr wfates S @
(a) 9 % FHR w1 99 fafe|

b) =& W oaG % e § owe w@ T 87

(c) =| vafam foor w1 9= o fou ws foor em@ =AmEa

Alternative question for Visually Challenged Students in lieu of Q. 26

Y WET 26 % M W gheaiya faental 9 fau awfeaw 9w
Complete the following table :

Type of Lens | Position of Nature of Size of
Object Image Image
Convex Between optical (1) (i)

centre and focus

Convex At focus (1ii) (iv)
Convex At infinity (V) (vi)
Concave At infinity (vii) (viii)

Concave At any distance (ix) (x)




20

frefafea afas (Aroit) 1 qu -

(a)
(b)

(e)
(d)

(a)
(b)
(c)
(d)

(b)

©H @ WRR | T o fefa yfdfara = yfafer =1

TFfd 3MHT
Exc i ‘O R CFw od= | (1) (ii)
BN TEE T W (iii) (iv)
3T @d 3Fd (infinity) ™ (v) (vi)
Faad | A W (vii) (viii)
sEad wH fodt o g = (ix) (%)

OR (:1%m)

Define dispersion of light.

Which colour of white light gets deviated (i) most (ii) least by a glass
prism ?

State the basic cause of refraction of light.

‘A part of a pencil, under water, appears bent with respect to its part

above water.” Give reason for this observation.
yERiE weive o fagsa (ferae) =1 wfowfa =3

TS U hT A W O1 5T @ () e sk (i) wew % fefea e @2
YERT o SI9add 1 A HRU FaEdl

Yot o @t g Ufee 1 Tl SRR R 9 UM R S el W 9 el gl
fe@ar 21" 39 IECiwA 1 HEU SRy

Sound plays an important role in human life as it helps us to communicate
with others in our daily life. Describe the mechanism of production of

sound in human beings.

Define amplitude of vibrations. Name the characteristic of sound which
depends on its amplitude.



28

(a) =AM AME SeA § T gewql gfae fud © #ifE Ted ww e 3f i SfeA
H gE % " AR $ ghd 2 WAl ® At o Scqed &1 feantaty w1 ol
it

(b) U o M H YR Y | =1 39 fagivar (1) AW ddRA S OIHSE
sEm W TSk w2l 5

Compare the properties of metals and non-metals with respect to :
(a) Thermal conductivity (b) Boiling point
(c) Reaction with oxygen (d) Reaction with water

(e) Reaction with acids

oIS 3 TSl o ON Wi qor Sl e femiwanedl o wef o wited

(a) W =TcAshdl (b) YR

(c) ofiFdts =5 @y sAfufshan (d) Ut = @y s

(e) oAl (ufge) = @ &fufeha 5
OR (31¥e)

(a) Explain the three main steps involved in extraction of a metal from its

ore.

(b) ‘Noble metals retain their lustre for a very long time.” Give two reasons

in support of this statement.

(a) T T (WIq®) § ¥ o gRewyo (frswdw) =& fou vgaa @ g =)on
H GuIEy|

(b) ‘Aol e WEd o GHG Tk ST wHe Sq@ @ 21 39 YA % §edd o
T HRO fefed|



29.

30.

(a)
(b)

(e)

(a)
(b)

(c)

(b)

(a)

(b)

(a)

(b)

Write the full form of PET.

Name the type of plastic used in making handles of frying pan. Also state
the reason for this.

Choose the thermoplastic and thermosetting plastics from the following:
Melamine, Polythene, Bakelite, Polyvinyl chloride
PET (4 3 &) %1 q@ (¥9) T fafed
WET U9 T BT oA WIH Wifew o YRR 1 AW fafEdl g wRo s
Fargd|
fefafes & 9 unienfes @R omEfen wfes R
TTTEA, OifafeE, sEeee, didlaed aNEe 5

Give reasons :
(1) Fertilization in humans is an example of internal fertilization.
(i) Earthworm is called a hermaphrodite animal.

Enlist any three changes that take place in the tadpole during its
metamorphosis.

DUl 9qEY .

() TwFa § foem few ol f=m #1 S el

(i) =hgetl Syafd wig %8 W @

3Tl % HEMWT % WA BH A dF SR S|
OR (s1¥=)

Write the function of the following :

(i) Oviduct

(ii) Owvaries
(iii) Tip of the head of sperm

Write two points of difference between oviparous and viviparous animals.



(a) fr=fafEa & +d EGIEL

feaanfe
sterr
e o B w1 Il W
(b) “RES wigel T@ isus wigell H A A=A =@l 5

(a) Give reason : A male plays an important role in determining the sex of
a child.

(b) Enlist three events that occur in the reproductive phase in human females

if fertilization does not take place.
(a) RV 9ARC : W= o fan i § gew &7 gfher gewgel @R

(b) fro=m 7 21 =t frufa ¥ 99a 9E= F1 gSHdE T ¥ gH A oF ggE geAst
I HeElg it 5



Paper -5

Maximum Marks : 100

1.  Write one word for the following statements.
(a) TheS.I unit of frequency. 1

(b) The constellation on which three bright stars in a row can be spotted on

a winter evening,. 1
(c) Removal of anthers from a plant. 1
(d) The single cell formed when sperm fuses with the ovum (egg). 1

=1 atfieredl & fau o v= fafeau -

(a) 3T T THSTE HEAH|

(b) = 90 e FS@H vt ®1 ¥H I G TERER AR TH o6 H 3@
S g 2

(c) W W WITHIY HI g

(d) TITI] TAT HUZM] & Hod § a7 arcl Tk BTl

2. Fill up the blanks.
(@) When we throw a ball upwards, it falls down because of
force.
(b) Plastics which can be recycled are called
() is the main ore of Aluminium.
(d) PPLOis also known as
et wam wRY -
(@) TR & AR Fehl T g & A= R w1 FRO o B
(b) @& Tofezs S8 qA: =fhd fhan S Fehal @ FeaTdl |
(© ___ UeAHE % e bk 2l

(d) PPLO off T ST 2

S W

3. Choose the correct option :-
(@) The nature of lens in human eye. (convex / concave) 1
(b) The gas produced by incomplete combustion of a fuel. (Carbon monoxide
/ Carbon-dioxide) 1
(c) Crops that grow during rainy season (Rabi crop / Kharif Crop) 1
(d) Responsible for determining the sex of the human child (Father / Mother) 1



4.

wEl Tosed 1 999 FHITeC -

(a) HME 97 § U0 WM 911 99 ® THA (STA / 3T9Ad)

b) et o & gl T SO ER Al W (FEH gEEEEe /
CICREERCIERIESY)

(c) =§ kg ® IW A FHA (W FEA / BHE HHA)

(d) TFE "ad & fan = AU w3 gen (T 7 A

Answer the following questions in short.

(a) Planet Jupiter shows its own colourful bands. Justify.

(b) Give any one purpose of purification of water.

(c) Pure gold is not used for making jewellary. Why?

(d) Classify the organisms on the basis of cell number.

=1 el %1 9&9 ¥ W fafew -

(a) TEEAd U ST TF i T Ufgar wRiEm e g1 gfe st

(b) VA % YIGHO H1 Hl Th FAE forem|

(c) WU T & fau g w1 swEm 6 R s 21w fAte)
(d) THIFTHT & F MU W a1 A0 HiTeTdl

Detine Non-contact forces. Give two examples of these types of forces.

AT Tl hI IRE fAfET 36 YER & 9ol & €1 IS S|

State any two characteristics of liquid pressure.

Fo 3a &1 &E & fowivan aasu)

(a) Detine electroplating.

(b) During electroplating which of the following are made cathode and
anode.
(i) the article to be electroplated.

(ii) the pure metal which is to be coated on the article.

(a) Togder ™ =1 aRamn fafeu)

(b) Tl wfewan & fr § 4 f69 S 920 3 UHE == mn S 2
() form =g W fagm < fn s 2
(i) YE-o1g TSEF T F A W =TGE W@ e

State the functions of rod cells and cone cells found in Retina of human eye.

A 97 & e ° U8 9H aTell Us KILTHRIST T hid HIER & &
fafam|



10.

11.

12.

13.

14.

15.

Give Reason for the following :

(a) Water does not exist in liquid state on mars.

(b) Comets are visible only when they are near the sun.

f= % fau #rm e

(@) T UE W A (UHY) o e H qE wal 2

(b) TFHhY Faw aft fGEE <@ ¥ vm 3 @ % fiwe wn

Differentiate between meteors and meteorites.

SCRIST a1 Iohiuel & AL faues wifsu

45 Kg of a fuel was completely burnt. The heat produced was measured to
be 180,000 KJ. Calculate the calorific value of the fuel.

4.5 Kg (fRhaAmM) $¥F w1 quiaan e T4 3= S 180,000 fHarse
it TE| T HT CHOHT AE IR {ad Rt

How does domestic sewage lead to death of aquatic animals? (Write any two

points)

*e] Hel Wiel, Seltd g3l 1 Gog 1 HRUT hE WehR aal 82 (W | g
fafem)

(a) Whatis lodging?

(b) Itis advised to minimise the use of fertilizers. Give reason.

(a) st fore et &7

(b) SoEH! 1 IYANT AATHWS FH HE HT WHY FA T S 22

(a) Why do we add phosphoric acid to carbonated beverages?

(b) Name the bacteria found in the roots of leguminous plants.

(@) TH FEMTS TI H wORiE o 7= Sen 87
(b) welEr el H1 Sl § q S Aol Siar) s A o

Name any two endocrine glands and the hormones secreted by them.

Tl <1 e ufemi & 9 99 399 Sfad emiAl & W fafem)



16.

17.

18.

19.

Enlist the four changes that occur during puberty.

AEARY & I B a6l TR qiEdAl #1 oo HIfu)

During the experiment on Electro Magnetic Induction, what is needed to be
done to

(a) maintain a steady flow of current.

(b) stop the flow of current.

(c) increase the strength of induced current.

faga g=aE W W W@+ F A #0 fm s wfer e fE
() Taga o fa &l Fp@Ee & Jared e &l

(b) TaEga 9/ +1 Yo 95 & 9|

(c) URT o om =t wifem 9 gig =l

(a) Draw the ray diagram of image formed by a convex lens, when an object
is placed between F and 2F.

(b) Define optical centre of a lens.

(a) TF faa fodt 59 o9 & F 3R 2F & wex e 7 B Tu fefq § o
el giafera &1 foeo amm wEifeu)
(b) TH T WHIIF g 1 qRuT fAfEm)

Alternative question for visually impaired students only in lieu of Q. No. 18(a)
W, 18(a) % TM WX hadl g anfaq faenfdat & fau derfeas wo
(a) State the position and nature of the image formed by a convex lens

when the object is placed beyond its 2F.
(a) TF Tofa 391 o9 & 2F 9 W T T Bl 3w feufy | ofw g fafda

widfara =1 feafq v gfa ferfem)

(a) What is hypermetropia? State the two causes of hypermetropia.

(b) Define power of accomodation of eye.

(a) < 3fte <9 o1 27 3H AW & IOH EH & T HNUT fafEn
(b) 3 1 TWHA el &1 qRemen fafem)



20.

OR ( 319d1)

Name the part of eye responsible for the following :
(a) Colour of eye
(b) Providing protective layer of eye

(c) Screen for formation of the image

HEE T % I 9N %1 AW faten s e o fon sweE ©
(@) 3 ot

(b) = 1 & TG ITASH HIAT

) Bfa Tza

(a) Draw a well labelled diagram of a candle flame.
(b) Name the zone of the candle flame which is :-
(i) coldest (ii) hottest
(a) THS T SATEN &1 AHifHhd o TRy
(b) S T STCN 1 I | &S ()
() F99 FH ™ © (i) waffe TH B

Alternative question for visually impaired students only in lieu of Q. No. 20(a)
WH, 20(a) S T W shad ghe arfaa faenfiat & fau dwfeus uvm
(a) (i) Name the zone in which unburnt wax vapours are present.

(i) Name the zone in which a copper wire gets red hot

(a) AN % 39 &F w1 9M fafEg
() Toad far il A9 & =9 Sufted B 2
(i) FEY TR 1 98 79 FE0 W A 8 A 2|

OR ( A¥dT)

(a) State two ill effects of incomplete combustion

(b) White phosphorus catches fire even at room temperature. Give reason.
() YU TEA ® FE XA BRRE FoE fafen)

(b) THE HIEHRE F H AEH W A THS W g1 HRO A



21.

22.

23,

24.

(@)
(b)

(©)
(@)
(b)
(©)

(b)
(@)

(b)

(b)
(@)
(b)

@)
(b)
(©
()
(b)

()

Why are gold and platinum called noble metals?

The purity of gold is expressed in terms of carats. What does a carat
mean?

Name an alloy which is used for making medals.

M 3R wifem ‘Hiset’ ol i w82

TR F T R H A ST 2 U R W o S 82
Hed s9F H 3TN B dTell T Aty o @ AW fafem)

State the 4R's that should be practiced to save the environment from
plastic waste.

Write two advantages of using synthetic fibres.

el HI T HE Y a9 Bq BH B § ¥R RFHT AW HCI
=few?
FHfFH W &l ITAM &wH & & a9 fafem)

Why is water chlorinated in the water treatment plant?

Write any two causes of water pollution.

S Sel SUER HoA W U ki FeIdH g9 F@ e S 22
Wl WEWUl % i T R ferfe|

How is food poisoning caused?

Name one bacteria and one fungus causing food poisoning,.

State one way to prevent it.

‘g favme’ fRE YRR B 27

TF e SR UF waw F AW faftey e wno wm e
= 2

T frame 1 T 3 fdfe

OR ( 319d1)



25.

26.

27.

(@)
(b)

(©)
(@)
(b)

(©)

Define bicaugmentation.

(i) Name the biological nitrogen fixer which fixes atmospheric nitrogen
in rice fields.

(11) Name the organism which fixes atmospheric nitrogen in the roots
of leguminous plants.

How are the bacteria, present in the large intenstine, helpful to us.

FrArATH=YE 1 ufwmen fafem)

() 39 ok oM feediso =1 9 fofey s agaved™ AEeH
1 TS ® Tal B TR S 2

(i) 39 <@ &1 9W fafen St 7 # FS |§ agHvedE AEgeE H
feor =t 21

TN g W WA A deeiia (Shem) sr fau fR wer

TETF 2

Write three functions of female reproductive system. 3

e U1 99 & dF YRl &1 Soold HiTtal

()
(b)
(a)

(b)

(@)
(b)
(©)

(@)
(b)
(©)

Name any two minerals that are usually low in the diet of teenagers

Define menstruation. Why does it occur? 3

fFem & wie A #9 9m ® 9w 9= 9 el S wfte agef & am
ferfeu|
®qEE w1 AR fafew) 39 BH SR THEE

Define absolute refractive index of a medium.

State the correlation between refractive index and optical density.

Why does a pencil appear bent when it is partially dipped in water.
Explain with the help of a diagram. 1+1+3

Rt e & fRue stoedAis @i i fafe)

TUey TUedATS qU1 WRITYTh WOl & HEAH Teddy oad i |
el ® A w9 ¥ AT SH W TF 4iHe g2 g8 1 gdid gl 82 TR
@ i FeEd ¥ SRl




28.

Alternative question for visually impaired students only in lieu of Q. No. 27(c)

WH. 27(c) % TOM W had e arfaa faenrfd=i & fau defeas woa

(©)

(©)

(b)

(©)
(a)

(b)

(©)

(a)
(b)
(©)
(d)
(a)
(b)
(©)
(d)

(i) Write any two characteristics of the emergent ray when ray of light
passes through a glass slab.

(i) Under what condition does a convex lens form a virtual image.

() N9 TH THE F HO AFTERR FiE F " Y oA € a9
o =t =8 31 fafyreae fafe|

(i) Torm feorfq o =+ S o9 T STHE widtas s ?

Describe an activity (without diagram) to demonstrate the effect of
frequency on the pitch of sound.

We hear the thunder a little after we see the flash of light though they
start at the same time why?

What is the range of audible frequency
i % TN W STHT Mg & INE Hi I TG T FRARaard 1 901

wifsw| (fam Twenfes)
TH KAl % TReH Fl AES ool & FEHhd B Al W K AR <l
21 s fafem)

o9 AT 1 TH 1 22

OR (319@T)

Define the term 'Echo’.
What minimum distance is required to hear an Echo?
State the difference between noise and music.

Suggest two methods to check noise pollution.

T Ylaeatd sl IR wifer

Sfaes 9w T Bg =IAaH g4 B e
g td YR ¥ e fafau)

et gguul i Hifgd #E & < I F gaE A

3+1+1
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()

(b)
()
(@)

(b)

(@)
(b)
(©)

(b)
()

A mental X' turns blue colour of copper sulphate (CuSO,) solution into
colourless. A brown coating is observed on the metal 'X'.

(i) Identify the metal X and the colourless solution formed.

(i) Name the type of reaction involved.

(i1i) Write the chemical equation involved.

Name a liquid metal and liquid non-metal.

Name a non-metal which has lustre. 3+1+1
TH 91 ‘X' I W Fehe & T § e W 98 39 Al T wl
T #T I T a g X' HW R T H W ¥ W L

() =g ‘X' qun VEE faeEs w1 g

(i) T T® TR w7 sfalED 2

(iil) 9 sifafshan =1 TEEE gHiE foafen)

T& 39 ¥Ig @ UF F9 AUG K1 AW fAren|

TF g AW fafe St TEEeR 2

OR ( A9dT)

Why is sodium metal kept in kerosene?

Name two metals which do not react with water at all.

On burning a magnesium ribbon in air, a powder is formed.
(i) Name the compound formed.

(ii) Write the chemical equation for the reaction involved.
(iii) State the nature of this compound. 1+1+3
qifeam o1q 1 HUSH § F @ S 22

S | YRR T H el & Ggsl & AW fare)

T TP B H A § SaN T T SEl a9l 2l
() & e A w1 AW fareu)

(i) BH arelt 9w & fou w@rfiw g fafe)

(iii) 39 AT *1 yHa fafem



30.

3L

(@)

(b)
(©)

(@)

(b)
©)

(@)
(b)
(©)
(d)

(b)
(©)
(d)

Give reasons :

(i) Nylon is used for making tyre cords

(i) Itis advised not to wear synthetic clothes while working in kitchen.

Write the full form of PET.

Name the synthetic fibre that :-

(i) resembles wool.

(i) is used for making surgical products. 5

HRo fdfem

() PR FE I90 'Y ATAR H ITA fFHA S 2

(i) TEER H &M FId I G¥RE QT 9 59 99 7 T8 F1 g
feam s 2

PET &1 Q0 W fefEm|

39 HAA W w1 AW fafem S o

() 9 F TWE A B

(i) I IAE TR H ITAN R S R

State two differences between plant cell and animal cell.

What changes occur in chromatin during the cell division?

What is the function of chromosomes?

Which part of the cell contains cell organelles? 1+2+41+1
Y HifeER SR Sig R % o fafe)

HITRT faursH & 0g widfed § fhd whR % 9Redq =fed 8@ g2

FIEEE H N gEE 22

et & T s ® wifvew & fafe= sfre W S @2

OR ( 3A9dT)

Why are plant cells more rigid than an animal cell?
Give functions of vacuole and Ribosomes.
Name the cell organelle where cellular respiration takes place.

Name the term used for protoplasm of the nucleus.



32.

(@)
(b)
(©)
(d)

(@)

(b)
(©)
(@)
(b)
(©)

Y SHITXTeRT, S HIVTHT %I ol § 3¢ 1 Bidl €2

Tk iRt o fifoqet vd W@ & & fafau)

S® HIYEHIT w1 AW feAfey el weE vEae g el

F5F o SR & g FAr fhy oM 9l 98 1 AW fafau)

Differentiate between asexual and sexual reproduction. (Any two
difference)
Explain the process of Binary Fission, with an example.

Name one hermaphrodite organism. 2+2+1

FTATF TF AT S H SR T Hifu
fei= w7 fafa =1 SsEww gfed 9vF wifsa)
fordt TR Iwyafat Sta =1 7w fafau)

Alternative question for visually impaired students only in lieu of Q. No. 32

WH. 32 & WM W shad g aruq faentdal & fau defeas wo=

(b)

(©)

State two conditions necessary for external fertilization and external

development to succeed.
areg fied @ arE fawm &) gwaw 'g @ sfterd afifefaat
fafau|



Paper -6

Maximum Marks : 100

1.  Write one word for the following statements.
(@) TheS.I. unit of frequency of sound. i
(b) The type of combustion, represented by burning of white phosphorous
in air at room temperature. 1
(c) The revolution that was brought about in India in 1960's to increase the
production of food grains. ok

(d) The chemical substance that controls the changes at adolescence. 1

frefafed sfuweaal & fau & v= fafew -

(a) AT FI G FHT THE. AEH|

(b) THE HEHRT H H aIIH T FaU, 9H W TH 96 61 F TR
() 9Rd H a9 1960 W W sieil 1 IR FgH & fad o T8 hifd|
(d) TrvmrerEen ® g4 ame ufedHl &t f4tE s aen @Etes 199

2. Fill up the blanks.

(a) The speed of an object , when force is applied in the direction

of motion. 1
(b) A ray of light passing through of the lens, goes undeviated

from the lens. 1
(c) Plastics are as they do not decay easily by natural processes. 1
(d) Stoppage of menstruation is termed as . 1
e ToH 9Rw -
(a) T I TG T A HI I H FC FH W IH T R AA

e Sl
b) TH @HF & H ¥ 9av & 9l U gem-fEo fom g2 ofw

¥ 9 frene S 2
() wifed € e o Weplds gwast gN W ¥ svEted

Tl B

(d) BIHE H ®F GH H _ Hed B



3. Choose the correct option :

(a) Gravitational force and electrostatic force are examples of (contact

forces / non-contact forces) .
(b) Brightest planet in the night sky is (Venus / Mars) ik
(c) The zygote divides repeatedly to give rise to an (embryo / foetus) 1

(d) The period of life when the body undergoes changes leading to

reproductive maturity is called (Adolescence / Adulthood) ]

wE fashey @1 <=9 Hifaw -

(a) TECITHYUl ol Us TERoEd el 3 SSel § (TS & / ST
)

(b) TH e H TIE AT IHe AN Uh e (I / TIA)

(c) TS TRTAR fasford e = o & (g1 / )

(d) SE FTT H 92 &y w9 W H 1 gftedq 21 2 foas aiomesy
S afaderar et ® (fRviRmeren / oawhan)

4. Answer the following questions in short.

(a) Name the coded language based on the logical system used by visually

challenged persons. 1
(b) Domestic sewage released in rivers leads to death of aquatic animals. Justify. il
(c) Define threshing. 1
(d) Name the type of asexual reproduction in Amoeba. 1

frfafea e @1 9eq 7 3w fafew -

(a) 3fte =Ifea =foaal g1 STAN &1 S 9Tl difsher UMl 92 STEME IS
o &1 = fafem)

(b) = G e el Ta U il Sel 1 9o F1 RO Gl 21 THIE
EX(

() ¢fam = uftam fafem)

(d) T 9 B Sl Sl Yo @ YR %1 AW fafeu)

5. (a) Define electroplating

foreFe # wReT fafe)

(b) Name the metals that are positive and negative electrodes of voltaic cell. 1+1=2

diees Ha H feom soiagrsl & o1 % A S|



10.

11..

12.

"The combination of plane mirror and water can act like a prism." Describe

an activity that supports this statement. 2
“ e <4l UE Sl 9 €9 9 TF W 9 27| 39 SfaRe % wHeiH
4 T fwamrar &1 q9uiE wifsg|

In the world of living organisms, frogs and insects use different methods

for production of sound. Justify the statement. 2
S S | Hed Ud i s 39 s & fou oty faftet svEm

FW@ Bl 3@ FEH F1 sifaa fag wRwl

Explain the reasons behind the following facts :
(a) Formation of colourful bands in Jupiter. (two points)

(b) Comets are visible only when they come near the sun. 1+1=2
Trafafed qef & ®RON %1 AT St :

(a) Feruld Te W TiF 9feal =t 2 (FE | )

(b) ¥AEq FF & TEW o WA famrE 39 E

Give reasons:

(i) We can boil water in a paper cup

(ii) Flame of burning candle goes off, when we blow over it strongly. 1+1=2
w=ro fafen .

() T9 HO H HUH G I TR €

(i) SToidl WHeE HT ol 99 S ¥, W9 ¥W IH W SR ° Fh ARG

Mg + CuSO, MgSO, + Cu
Zn + CaS0O, No reaction
Give reason for the above observations. 1+1=2

ST STAAhl o T Il <IfT|

Suggest any two methods to check (control) pollution of water caused by

industrial waste. 2

sitifTer saferel g1 € 9 Sid 9gue § "9 % fore fal < fafeat @
REERAER

(a) Name one implement used for weeding,.

(b) State any one beneficial effect of transplantation. 1+1=2

(a) T & fou swam 2 o faedl w siem =1 9m fafeu)
(b) TEAARIA FT ThH NN g g



13.

14.

15.

16.

1%

(a) Define food preservation.

(b) Write any two uses of fungi like yeast in food industries.
(a) e 9fReo 1 giem fafen)
(b) FaH, SN AR, & @F A H F1E 8 ITE fafem)

Classify the living organisms into different categories on the basis of the

cell number. Also write one characteristic feature of each category.

SHILMAT 1 FIVTHRISA I T & YR W TFMpd HRT| & Th O Fl
T fasm @ o fafeu)

State two conditions under which the reproductive pattern of external

fertilization and external development succeeds.

3 T feafaal aand fo=9 TR & o= B arel geHT 9RE Bl © dite [
S 39 B 9l

The voice of boys gets deeper when they reach puberty. Write two possible

reasons for it.

AEATY T U= W ASH! F1 @R G B Sl 21 THS 4 "G HRO
slicid

Give reasons for the following :

(a) Itis difficult to pull a rubber sucker pressed on a surface.

(b) We do not get crushed under the large atmospheric pressure acting
on our body.

(c) School bags are provided with wide straps to carry them.

frafafea & #R0 9aET .

(@) TH T W I@EHL @MY T @8 & TG0 Fl TG HL SARA HiST
LG

(b) THR YRR W U9E SleM dll daued™ 3@ § I & &9 fa=e A&l
S|

(c) THell ol *1 I2M vY AW S ufFAl g S €

1+1=2

1+1+1=3



18.

19.

20.

21.

Passage of electric current through conducting solution causes chemical
changes. List any three possible observations resulting from these chemical

changes.

frell =ers foe@m 9 faga o/ warted 2R @ qamEte afufeand ed )
3 qETEe Sf9fhaet & URomHEa®Y i o |9d el foeE|

(@) Define amplitude and frequency of a vibrating body.
(b) Which characteristic of sound is determined by its amplitude and

frequency?
(@) Tl HIEHR a%g & @M T gfd &1 9w fafa)
(b) = F FE H foREa 3E FEE R el g feifa e 82

OR ( AYET)

"Excessive noise in the surroundings can cause many health related

problems'. List any three ill effects of noise on our health.

“ofeer § orenfus TR F1 Sufedfa o Wees Geel "HEnsi w1 S
o9 Gehdl €1" IR @ IO B el TRl diH e e fawnd w0 g

EEIEe]

(@) Give the relative positions of sun, moon and earth on a full moon day
and on a new moon day.

(b) On the days following the new moon day, how does the size of the
illuminated part of moon changes? Also, name the term used for this
apparent change in size.

(@) T wE smEEn & fe g, dw dwn gest w oo fefa
ERIEY

(b) 3THEE & 915 3TH o1 5l § 950 & F&I< 90 &1 TR {58 TR
TEA 27 AHER F W T et & A s wR awen v=
fafau|

Increasing use of fuels has harmful effects on the environment. Mention any

three such effects.

e &1 g@dl g3 UL YAfeRu W B RE YN Sredl ¢l i el dF
FOEl T Soeid HIfTl



22.

23.

An element X' burns in air with a bright white light and forms a white
powder which is found to be basic in nature. Element 'X', on heating with
water, liberates a colourless gas which burns with a popping sound. On the
basis of above observations, answer the following questions :

(a) Identify the element 'X'.

(b) Write the chemical name of the white powder formed.

(c) Write a simple method to show the basic nature of the white powder.

(d) Write the balanced chemical equation for the reaction of 'X' with water.

T o X V@ gdl | Soldl €, ke SHeheR ATl <l € S e uset
TN € S YN Whfd 1 21 oW 39 'ig Xl aEr ° v T e @,
€ TF W IO € S Sed W 9 eat 2 21 39 SR W frerared
T H ST :

(@) X' =g I TEEH|

(b) THE TR FH TEEAHS 19 FAC|

(c) T fafe grr O TR % INH THA & H HT THO T

(d) =g 'X 1 I 9 gE THEE TR w1 g fore

Read the given situation carefully and answer the questions that follows :

Meena was cooking on a gas stove, wearing a nylon dress.

Her father told her to change her dress and wear a cotton dress for working

near the gas stove.

(a) Why did Meena's father advice her not to wear nylon dress while
cooking?

(b) State two other disadvantages of using synthetic fibres for making
clothes.

& T aRfefs W STEE TR T FreEfrEd T @ I AR

HAT AT % hUS e HY W Jee W W Y oAl sEe fuast 3

Y FHTS I FI kel I G FUS Ted H AW Yo & GHT h wA

1 Felre <

(@) T & 9@ 7 ¥ @A UH GET TEAM % S A U Fi Gellg
i <1

1+2=3



24

25.

26.

(b) TYATE T H T T % AU ITAM FH HKT FE QAT BA
A

Explain any three methods used for water purification.

A YMGHO & =l o qlehl 1 G HIfAT)

Write the name of disease causing micro organism, their mode of transmission
and one method of prevention for each of the following diseases :

(@) Cholera (b) Malaria

frefafem W & fau TeRE gemsia, G=10 &1 T Td 9= @ Th
3y fafen -

(a) T (b) wAfEE

OR ( 3AgdT)

Write the name of a plant disease and its symptoms, caused by the following

micro organisms :

(a) wvirus (b) Bacteria
frefafen gersial s disl & €9 o W7 %1 AW ud 38wl fdte:
(a) dArEAH (b) e
Complete the table given below :
S. No. | Ductless Gland Hormone Function
1 Thyroid (1) (i1)
2 (iii) Growth hormone (iv)
3 v ) Lowers the blood
glucose level.

= & T s & QU HIEC
wH | ¥ gEr ut A Eap|

1 SRS v G

2| (i) gig T (iv)

v D | 3 YT ER R HA
AT 2




27.

(@)

(@)

(b)

(@)

(b)

OR ( HAYdT)

Enlist any two personal hygienic measures that help adolescents to
stay healthy.

Hormonal balance in adolescents shifts them towards their adult state.
Justify.

Al W=sdl & HIE < S fafen st frorl = @Ry ® ¥ meg
FQ T

fFei & TMiAe Gqed 3= oFehdl @1 SR o il el siifae @ifad
Eated

State the rules which govern the propagation of a ray of light when it
goes from one transparent medium to another.

Mention the position, size and nature of image formed by a convex lens
when the object is placed

(i) between F and 2F points of lens.

(ii) atthe 2F point of lens

TR fRToT & T ¥ g IRt "o |/ wene # fEhE w1 e
e fafe

fordt a5 & 3Ua o™ W 99T U gfafas #1 frufa, omeR wd g

T Ieetd FHRW, Fdih 98 9
(i) @9 % FUd 2F fagsi = <= @i @
(i) @9 & 2Ffag ® @& =

OR ( 319@1)

State the correlation between the following :

(i) the speed of light through a medium and its optical density.

(i) Refractive index and optical density of a medium.

Draw a labelled ray diagram to show the formation of image of an object

placed at 'F' point of a convex lens. Also mention the nature of the image.



28.

@) Tr=fafed & &= IREs S99 IqEy
(i) T A9 H YRSl *i A U AT 1 TR oA
(i) T HILAH &1 ATekich Godleh U9 SHh! ThRE T

(b) T I9d @9 & ‘F' foay W @ ® 9w & gfafEa & fAo & g
g T 3ifeha foram gam forvor s ezl

Alternative question for visually challenged students in lieu of part (b) of
choice question.
gfte wifaa faenfd=t & fau 9w (b) 71 SeRfeas wwA
(b) Define the following in context of a lens :
(i) Optical centre
(ii) Principal axis
(iii) Radii of curvature

(b) TH ©¥ & Hed °§ frefafea #i aftamn fafen -
(i) R B%
(i) THE STeREN
(i) FTehar For==m
(a) State any one cause of myopia and hypermetropia each.
(b) Differentiate between optical and non-optical aids.
(c) Name the part of the human eye which is responsible for the following :
(i) colour vision
(ii) holding the eye lens in its position.
(@) e 3fe W wd 3 3fe 9 F1 TH-TF RO FaqRtl
(b) ATIfehal Ud A7 ATUfehd a7 F1 95 T FHi
() W™ & W F 3@ "W H AW Tt s Fefated # o seer 2
(@) ¥ 3fe
(i) o ® <" T e feer W % fag

1+1+1=3

2+2+1=5



29. (a) Name and define the steps generally involved in extraction of a metal
from its ore.
(b) (i) Define an alloy.
(i) Inwhat ways are alloys better than metals? (two points) 3+2=5
(@) STTFF § 91g & (=R 9 Fag Yhastl & 9 ud g faren)|
(b) () Tafaa ag =t 9femn fafaw)
(i) Tafem erqd, oget @ fFg R sg@® 22 (F f6g)

30. (a) Write the names of two types of synthetic plastics and give one example
of each.
(b) List six characteristics of synthetic plastics. 2+3=5
(a) HYITa wies ® I YN & 99 fafee @ S +1 TH-TE 3T
<ifsl
(b) TG wife & +E =: faftre i =1 =t SR

OR ( 3A¥dT)

Give reason for the following : 1x5=5
(i) Rayonis not truly an artificial fibre.

(ii) Acrylonisused for making blankets.

(iii) Nylon is used for making ropes.

(iv) Bakelite is used for making electrical switches.

(v) Melamine is used for making kitchen ware.
FAfaRaa &1 FRY FdEy

() TE TE ueR o T Hyalfia T e

(i) UFa = Fod a1 & fou svEn e s
(iii) e, ToF a9 & FM o7a 2

(iv) JdeEe ¥ faselt & fo=g a9 s 2

(v) HeMET 9 TE & 9dT a9 o 2




31.

32.

Give one characteristic feature and one main function of following parts of
cell :

(a) cell wall (b) chloroplast

(c) Mitochondria (d) Golgi complex

(e) Ribosomes

FHIFTRT & FAfafea 9T &1 Tw Gy @@ @ te g wE adEg
(a) ity fafa (b) TRATIH

(c) wrEErHIEAT (d) TSR

(e) A

Name the four main organs of female reproductive system. Also explain the

function of any three parts.

TR TS GO & |1 qed S w1 9 fafeu) e 9 feel 9 o %
®E & guE St it

OR ( 319dT1)

Define metamorphosis. Enlist any four remarkable changes that occur in the

body of a tadpole during this process.
FHEEOT 7 AR fAfEu 5@ ufE ® AR deuid % YRR § e A

fR=l =R TR UREddl o g S|



Paper -7

Maximum Marks : 100

1.  Write one word for the following statements.
(@) The colour that bends maximum towards the base of the prism as it
passes from the prism. 1

(b) Method in which agricultural land is left uncultivated for one or more

season. 1
(c) Fibre which is also called as regenerated fibre. 1
(d) The minimum distance at which objects can be seen most distinctly. 1

e afueret & fog o o= fafer -

(@) @€ U1 fsm & smem & faon § sifshad g € w9 9% w9
TS 2

(b) T Tgfa fad & o 91 ww 9 etk Hieml & faw wf gfn #@oefer
e 1 T

(c) HTER T8 TF: I WER HEl ol 2

(d) 58 =Fan g W 9 F Te) R w9 ¥ @ T g ¢

2. Fill up the blanks.

(a) Water that is fit for drinking is called as water. 1

(b) Bauxite is an ore of 2 1

(c) Voltaic cell converts energy into electrical energy. 1

(d) are the chemicals that inhibit the growth of other harmful
microorganism by affecting their life processes. 1

T =z aftg -

(@) T IR e § e S SEal © oS4 T e 2

(b) THEE _ F TF ITF T

(c) diees® dd Sl &1 fagd e § agoar el

d) 9 WEA € W e o wifers geEsial & fawE w6l

Tk 2



3.

Choose the correct option :-

(a) A metal stored under kerosene. (Sodium / Iodine)

(b) Number of days taken by hen's egg to hatch. [41 / 21]

(c) Hertz is the SI unit of (frequency / Amplitude)

(d) The menstrual cycle stops when a woman is in 45-50 years of age. This

is termed as (Menopause / Menarch)

w&t fasken 1 =9m wifSw -

(@) o uid f8 UG & ded dUeld fea sa 21 (Eifegw / sEE)

b) T ® 2 F ° IFH a=9 & TThe H WA o 21 (41 &= o/
21 &)

() &S (gl / W) #T TE E TEE B

(d) <& UH Higel 45 ¥ 50 Wl F1 A W B 2 a9 SHH WiHgw o w9
gl a1 21 38 (e / ieeE) Fel S 2

Answer the following in short.

(a) Write one condition required for combustion.

(b) Name the process of fusion of male and female gamete which results
in the formation of zygote.

(c) An example of terrestrial planet.

(d) Name the electrode that is connected to the positive terminal of the
Battery.

= weAl 1 HWe | SW fotay -

(a) Ted % folq U fevas A o

(b) &Y R Aieell SHH & G H UEHA H AW <, W TR g &
T 1 IR 2

(c) TUEAF UE T TH ISR S|

(d) St % TR i ¥ S SoeRE &1 AW 2

Write two indicators which are used to recognise pollutants in water.

I H WEET Hl UEErH % fau STEm fRe 9 A @ Haaw o

Write the name of the cell organelle which:
(a) provides skeletal framework to the cell.
(b) helps in protein synthesis

(c) stores excess water and waste products

(d) is called store house of the cell.



7.

IW FHIITHT H Y fAfEw = -

(a) IR F Fbrel @4 2T 2

(b) W HYAT § HET FIl Bl

(c) Tenfers Ot UE arafyrel uerel 1 S wa 2
(d) FIRTH FT HUE F& FHeAE el

Draw a diagram showing the path of light as it passes from rarer to denser

medium.

forer @ w1 WeAw # 3 WH 91l YR % AE 1 @ o sAEn)

Rarer

Denser

Alternative question for visually impaired students only in lieu of Q. No. 7
U, 7% WM W hdd gie arfua faamfial = foe dwfeas woa

Write two rules for refraction.

WedT & 3 fm fafeu)

Give reason :
(a) Animal cells are more flexible than plant cell.

(b) Mitochondria is called as power house of the cell.

HROT TR
(@) T HITEHT, WY HITRRT @ i e 2
(b) AR H FIH F1 AT Fa Sl 2

44 + XX 44 + XY

Coa—

Observe the flowchart given above and answer the following questions

(a) Fill the appropriate combination of chromosome in blank boxes (i) and (ii)
(b) Predict the sex / gender of the child A and B.

faw T v i 3w e frefatad W @ 3w 3

(a) Tt a9 (i) 3R (i) & TR & SUEE GAeH H W)

(b) =3 AN B& T =1 sfereamft |

Alternative question for visually impaired students only in lieu of Q. No. 9

UH. 9% WM W Hhad g arfaq faenfdal & faw Jwfas g

Write two benefits of physical exercise for adolesence.

freiaeen & fau sy = = 3 oy fag|



10.

11.

12

13.

14.

15.

16.

Write two differences between rod cells and cone cells of eye.

AT K1 TS BRI R Vi HIREREA & o= 5 AR fafem)

Classify the given material as combustible and non combustible.

(a) Glass (b) Wood
(c) Iron Nail (d) Paper
& T\ ) geelie W W gEasfier § enffed @
(a) I (b) THII
(c) W T Hid (d) TS
Write the functions of the following.
(@) Ovaries (b) Oviduct
Frefafea & wr fasl
(a) FSTTA (b) TETanfe
Complete the following table
Planet nearest to Sun (a)
Largest planet (b)
The constellation of which pole star is a part (c)
Natural satellite of earth (d)
freferfed arferst 1 qu 1
T H EH TRE U8 (2)
Il 981 T (b)
yd W forg Fee o fewm € (©)
gt &1 Whfdeh ITUR (d)

Name any two communicable diseases and their modes of transmission.

fordl ot <1 g9 Wi den 39 G=oT i fafyg foas

How does atmospheric pressure vary with

(a) altitude (b) temperature
arg e frEfafEd & STER S8 sgedl 272
(@) & (b) HE

Fungi like yeast is widely used in baking industry. Explain how yeast help

to make the batter of idlies soft and fluffy.

FaF, 99 fr @oR, @ AfFET sTm § = fee o 21 wweren R fea

TR THR & §N $eofl MM W 98 qAEH 99 Fefl g8 o T



17.

18.

19.

20.

21.

(a) Differentiate between chloroplasts and chromoplasts
(b) Name the smallest and the largest cell.

(a) FANTARE TS AR H <L §qIy|

(b) TH Bl HIFVTH T TG TSI HIIHT 1 AW @

OR ( 3¥dT)

(a) Explain the importance of chromosomes present in the nucleus.

(b) Write the different levels of organisation of living organism in sequence.
(a) AfoFEE o 9 I a6l A % Ao i FHenE|

(b) 3TgHH § Sl 9 I[E B 9 §eA &l @l

Water crisis is a major concern of today's world. As a student suggest any
three ways which you can practice to conserve water.

S W S G B TH A€ A 21 U8 A O w g e
a9 T TE % fae STEn g 2

Ramlal, a farmer is turning the soil upside down before sowing seeds.

(a) Name the implement he will use to make the soil loose.

(b) Write two benefits of the practice mentioned above.

T, T M 9078 & el el &1 FW 9= #L © 2

(@) 9 SYFWOT &1 AW fo@ 9 98 ge1 &l 9o w3 F fo S9Em
¥ @ T 2|

(b) I IeaifEd qfwa & I a9 fore|

(a) Enlist the functions performed by artificial satellites. [2 points]
(b) What are comets?

(a) FOM IR W AT TC F@ F Geras FHCl (HE )
(b) TG FE?

Rajat added a magnesium ribbon in a beaker containing a solution of Copper

Sulphate. Observe the set up and answer the questions given below.

Colourless

Magnesiom ribbon

Brown Coating

After some time

Y

Copper Sulphate (Blue)



(a) Name the type of chemical reaction shown.

(b) Why does the colour of the solution taken in the beaker change after
sometime?
(c) Write the chemical equation for the reaction occuring in the above

experiment.

@ 3 TH S H HIW Tee faod § HAiEy e & gen ew K
T Hee™ w1 T w9 U T e S d

(@) Temmu U gEEtE gfdtEa & gER % AW F

(b) st ¥ foru forerem =1 €1 3 999 oK F a9ael Sl e?

(c) fEmm T war § B ol wfem & fau et g fafem

Alternative question for visually impaired students only in lieu of Q. No. 21

WH, 21 T W ool g anfe faenfdal s fom desfeas woa

Give reason for the following :

(a) Silver is a good conductor of electricity but it is not used in electric
fitting.

(b) Aluminium is used in making aircrafts.

(c) Nobel metals do not get tarnished and retain lustre in long run.

frAfafed & SR FaqET ¢

(a) e fasiell 1 T rem1 gees ®, TR o faga fwfen o swen wam
& T s 2

(b) TR T TR faHH FH § fRE S 2

(c) el ©1g Soal W @l e a1 TR == off = w2

22. Complete the table below.

X location of image | type of lens used | Any one reason
Deffectiofieye formed for correction for defect
Myopia (1) (ii) (iii)
Hyper metropia | (iv) (v) (vi)




23.

24

F= & T afers Hw W F
dim & Fu | BfF T # @m ERIE P O SR | 0N 261 T
G F THR (Th)

feesgfesw| @ | G)__ |@EH_
e geIw (Gv) 0 | v )

(@) Aashi avoids wearing synthetic clothes in summer and rainy season.

Give reason for her preference.

(b) Excessive use of plastics is causing damage to environment. Give two
points to justify the statement.

(a) omel, Wi o evH % HeH § Y o Yeed 9 a=d €1 SHe
WA T HROT AT

(b) TEATEF 1 SR STIN TR0 ) BT Tgamd 2| 39 HUA FH Tl
& & faw I wror <

OR ( 319dT1)

Enlist three advantages of using synthetic fibres.

FHAH BEHR H STEM HE & dH BES Gdl

(a) Write two benefits of doing chromium plating on bath taps and car
bumpers.

(b) Write one application of electrolysis.
(@) T e 3R HR TR W HIETH H W/a =9eq & 3 oy foad
(b) IoFRIfarEE ®1 T sTm fafem)

OR ( A¥dT)

(a) What will happen to the current when following changes are done in
an electromagnet.
(i) Magnet and the coil are made to come at rest.
(if) Speed of relative motion of coil and magnet is increased.

(b) Write one application of electro magnetic induction.



25.

26.

27.

(b)
(@)

(b)

(b)
(@)

(b)

(@)
(b)

foe ga& § Frafaiea aiEdd &t W He ol F1 B2

(i) A Tae a1 FaEe HI TR wY T s 2
(i) TP AN Faw H WYET T S & Sl B
Togd Fraha Y0 F TEH ST faren)

Name the following :-

(i) Coldest zone of the candle flame

(ii) Gas produced during incomplete combustion of carbon fuel.

Define flame and calorific value.

FAffed & AW 9

() HITel ®T @ F1 FaH I WA

(ii) HEA EUA SR TE W Seafed |
Al T HARHH g S|

Classify the following into contact and non contact forces.
(i) Pushing a box across a room.

(i) Football player kicking a ball.

(iii) Falling of a rain drop

(iv) Opposite poles of two magnets coming close together.
State any one effect of force.

R e R

() TH TN A T fe=u FH el

(ii) Feard TGSl 5/ Tk 715 &l & JiAT

(iif) T @R ®1 9% F A= fwm

(iv) & Fhi o faod gai ®1 T SH & 9" ST
I & foRdl U 99E & Sa|

Define : Metallurgy
What happens when : (give equation)

(i) Zinc reacts with sulphuric acid



28.

29,

(©)
(@)

(©)

(ii) Sodium reacts with water
(iii) Magnesium hydroxide is tested with red litmus paper?

Pure gold is not used in making jewellery. Give reason.

oI i TR i

1 e ® v - (Tt fmand fag)

@) f5® ot gewrfw o § wamEte R e 22

(i) Efesm 1 ur & Wy qEEtE e e 22

(if) HREY EESEIES & el faead o | Sfi=r S 8?2
IS T H SHAE Ted a9F H el fohdn SErl SR Farg|

OR (319d1)

Define Alloys. Give two examples of alloys.

Differentiate between metal and non metal on the basis of density,
tensile strength and thermal conductivity.

fag g =t Rl o2 o fag og % S| <

T, 9 ViR 3 S ekl % STER W OHIg 91 1€ % o
1 A= fore|

Endocrine glands are known as ductless glands. Give reason.
Write the function of thyroxin and insulin.

Mention any two changes that take place during puberty.

3ot TR F TEER TR ® W | W S 81 SR 2
AP 3R Sgfer &1 =1 fad
e H A BN 9Tt Rl ] IRadH &1 S il

Explain the process of formation of rainbow.

Name the optical phenomena responsible for change in apparent
position of fish in a pond when seen by a bird sitting on a tree branch.
Define the following :

(1) Optical center

(ii) Prinicpal axis.



30.

31

(@)
(b)

(©)

(@)

(b)
(@)

(b)

(b)
(©)

(@)
(b)
()

(b)
(©)
(@)

TEUAY % TTSH HI UiRAT I FHEAS

aee § Asfadl + TR g ¥ 9eeme & fou fSeer sifesa
A H AW 2 WE TH uslt U & TRl W a8 w usfed &
Eenil ]

=1 =1 fenfiE Y
(i) Afeha &g
(i) T o
OR (3A9d1)
The speed of light in vaccum is 3x10°* m/s and in glass is 2.10x10° m/s.

Calculate the refractive index of glass with respect to vaccum.

Write any three applications of lenses in our daily life.

frafa | wemer &7 T 3x10° m/s 81 3R H= § 2.10x10° m/s &1 frafa
% Ha9 H wF & AYdTH HT TOET HL
TAR ofFk Sod ¥ o9 ® @iE d9 ST faws

Give one example each of a natural and a synthetic fibre.

Give two difference between thermoplastics and thermosetting plastics.
As a responsible citizen one should work for the betterment of the
environment and should remember "4R"s. What does these "4R"s represent.
TRfae SR FHEH I B TH-TF I 2

emTfeesh iR o wifeess ® T SR FaEy

o TR A % w9 H vl w1 9o % fau wm s =iy
T =R “R” F ST @ A e AR YR qw E

Name the method by which the following organisms reproduce.
(1) Hydra (i) Plasmodium
Write two differences between sexual and asexual reproduction.

Compare the fertilization and development pattern in hens and elephant.

35 fafer @1 7 < fogs gr FeeAfafead shel &1 edrd 2 2l
(i) BT (i) ArHIETH



32.

(b)
(c)

(a)
(b)

(©)
(a)
(b)

(©)

(@)
(b)
(a)
(b)

AfiTeh 3R srelfith gorH & o & siat forg]
it R gl § freem ok faera fafa =i qerm w1

OR (3A9dT)

Give an example of hermaphrodite animal

Write one point of difference between oviparous and viviparous
organism. Give one example each.

How is a tadpole different from an adult frog. (three points)

BTN SR H1 T SqrE 2

feayg it foaim sfdl & st o) &1 s fog foel) <= 1 wh-uw
IS 3

Tew w1 fEHHe TF =FF HeF § B oo 27 (d fag)

Define echo.

Enlist any two causes of noise pollution. Suggest two ways to limit it.

giqeat st g fatam)
e Fguul % < R for@| 36 HiHd FH H <A Wb g



Paper -8

Maximum Marks : 100

1.  Write one word for the following statements.

(a) Structure present in Euglena that helps in locomotion. 1
(b) The zone of complete combustion of wax vapours in a candle flame. 1
(c) Onset of menstruation in girls at puberty. 1
(d) Bacterium responsible for formation of curd. 1

e srfeperi & fo o vt foafee -

(a) FrelT H Sufterd H=AT S A | WEEE Bl Bl

(b) WS ®T wdle H HH areg % gui e w1 e

(c) FEARY H wsfral § "iraw o &1 Uy

(@) =@ fmin &% fag seeer sfam

2. Fill up the blanks.

(a) Partof ear that vibrates when we hear sound is kown as . 1

(b) A marked developmental change in the structure and habit of an
organism during its life cycle is called : 1

(c) Amount of heat energy produced on complete burning one kg. of

fuel in pure oxygen is called . 1

(d) Substances that pollute water are called . 1

e wam wfwu -

(a) M H IF 9 W FAEE AT GOE W W F9H B e £33
ST 2

(b) T Sod 9% ® WA TF 9 F! G SR Tg § TH IeoeHd
forenreia afted= =1 e Sl 2

() el T foramm Se@ 1 g sy § 90 W@ ¥ T8 & W
IcaTed STl i W I el S 2

(d) STt ! wafod FT et wef i el Wl g



3.

Choose the correct option :-

(a) Synthetic fibre that provides elasticity to socks is (Nylon / Terylene)
(b) The process of loosening and turning of soil (Ploughing / Harvesting)
(c) Site of fertilization is human females (oviduct / ovary)

(d) Outermost covering of an animal cell (Cell membrane / cell wall)

el fasheq &1 =99 wifs -

(a) 9% EYATHG 190 S O 1 o=9F YA Fal 2 (e / Fe)
(b) THeT &I @rell 0 IR Se-9ee HE 1 YA (S / HIE)
(c) Wel HIETS H Fu=A-¥Ie (Sigared / JSRME)

(d) g RIYTERT 1 FoH TRl AR (Hifveh faeedt / wifve fafa)

Answer the following questions in short.

(a) How cataract can be treated?

(b) What is the relative position of Earth, Sun and Moon during a full
moon day?

(c) Define second principal focus for a convex lens.

(d) What is immunity?

=1 el 1 wew H s fatay -

(a) WifFenfaz =1 sT=m fFe yR fFa s g 22

(b) gfore & fam gesft, o SR w5 "y / qomHs frfd wn e 22

() TF ITd @9 (A1) & foau gt qea Wiy &1 aiamn fafen)

(d) UM AfqUiEes e # B 22

Why does Venus appear very bright in the sky? State its direction of rotation.

M H Y UE FAATUH YHREE F Wdld Bidl €7 TERI AT gH W
A+ i faen fafau)

What happens to a copper wire when it is introduced in the middle zone of

a candle flame? Give reason to support your answer.

T 9 B qE F AFGH FI A B AA-GF H of IH W SH F B e
T IW &I gfe Hifeg|



7.

10.

Two containers A and B of different shapes are filled with water upto
same height. Compare the magnitudes of hydrostatic pressure acting at

the bottom of containers A and B. Justify your answer.

fafa= sl & < UE 27 I T HI W  FHA HTE d% O T4 G
F AR A & A W @ ol fer wela q@ & 9| w1 ger st
AT IW 1 Gfee Hifeg)

Reema wants to deposit silver on an iron spoon. She sets up a simple

electric circuit for electroplating.

(a) to which terminal of the battery should the iron spoon and silver metal
be connected for smooth electroplating?

(b) Name the substance that can be used as an electrolyte in the above

process.

i TF @® F T W A R WA G Ged ¢l 98 fage-aw & fag

T W Togd 9y w1 w2

(@) TEE w9 Y foga-av 1 & fou @ & =99 o1 =16 %1 o1g #1 o2y
% fow it 9 ST =ifew?

(b) ST Ufeham W T fae@-a1oeea & &9 ® w40 U <1 " arer weed
1 9M fafeam)

How does dumping of domestic sewage in rivers lead to depletion of oxygen

in water?

e Ae @ ARl H R i 9 O § sATede w1 RH RS TR Rl
S 27

(@) Why is phosphorus stored in water?
(b) Name two major non-metals which are present in fertilizers and enhance

the growth of plants.



11

12.

13;

14.

(a) IEHRE 1 Weru Ut § = foHa S 22
(b) et ® foemm & yg@ emet & 9W fafew S odel w1 gig w6
e[ Bl

A paper up containing water does not catch fire on heating. Give reason.

I W 9 BN TH HES H HU TH R W AT T UhSdl Bl HRO
fafEm)

Consider two media A and B. The speed of light in medium A is 2.5x10° m/s
and in medium B is 2x10° m/s. [Speed of light in vacuum = 3%x10° m/s]
(a) Find the absolute refractive index of medium A.

(b) Find the refractive index of medium B with respect to medium A.

T AT - 1 N G B WEAH 3§ R B A 2.5x10° HeyEHS IR
e § 9 2x10° Wey/Awe 8| [Fald § 9 1 i = 3x10°Werds ]
() IEEH 3 T RUY T9acieh & it

(b) WIEAH 31 & TU& WEAH § H1 TI9a-Id 7 Rl

Ram saw a cracker burst at night at some distance from his house. He heard
the sound of the cracker a little later after seeing the flash of cracker

burst. Explain why there was a delay in hearing the sound of the cracker?

T3 7@ H 39 R E B T W TR Fed g3 @ IH TIE & Fed
1 & Jere HT UWHT H I6H & HD GUN IvER Al TS w1 At g
H 0 = g, T Rifey

Megha developed pimples on her face as she entered adolescence. State
the possible reason for appearance of pimples and suggest a way to prevent

them.

Ter 3 SE @ fwviveRn ¥ waw R, sEe 9wl W qE fTeE 3R ol
TErEl F Scfn w1 Fwfad wRen fafen R s faRe @ U ST
EEIERA IR




15.

16.

17

18.

Name the part of the male reproductive system that :-
(a) produces sperms

(b) conducts urine as well as sperms

TGS T H IH 9w AW fafee

(a) YERTUET 1 SUEA HAl 2

(b) I AR & w1 HEEE HE e

Name the cell organelle which is called the power house of the cell and why?

3T FINTRT STk 1 9 fafen 9 Hifmw 1 fasielsr w8 o = sl
7 ?

Categorise the following materials into biodegradable and non-biodegradable.

(a) Paper (d) Plastic Bag
(b) Woollen cloth & hmianies

(©) Wood (f) Peels of vegetables

frfafen aeefl 1 Safreweia v seafreeT § arfiea s
(a) HH (d) TeEE w1 el

(b) FHAT FHIST (e) IHHITIH 1 fe=an

(c) TRET (H sl & foas

Mention the names and direction of forces acting on a bucket containing
water which is held above the ground in the hand of a person. Why the forces

acting on the bucket do not bring any change in its state of motion?

T A B Y W UA W 9 g e §, S oad § S 2l Al W
T AT a6 SR A1 feenet @1 AW fafew) Sed | N o adl &
FROT Aeel w feufq § w1 ufeds = T8 o 82

OR ( 319d1)



19.

20.

Identify the nature and kind of forces involved in the following situations -

(a) A magnet attracting an object made up of iron.

(b) Expansion of lungs during inhalation

(c) An archer stretching his bow while taking aim at the target.

frefafea oifefaal & @ 9@ 59 #1 THE AR TER w1 TEEH
T

(@) TH G G @IE HI 9%g I T T MHTTd HET

(b) |E o % <RE el ® fawn

(c) TEIVEA & TA¢ ¥R §N O I AT AR S

Sometimes unwanted plants grow alongwith the main crop and compete
for nutrients meant for the crop. What do you call such unwanted plants?
Briefly explain any two methods for the removal for such unwanted plants
from fields.

Fiii-w9f T wEd B WY AEEd N9 o fomkfad 8 S| € S 9 qel
% Tolu e wue § wfaest w30 €1 U8 Aeifod dieis! @1 el S 82 Sdl
# | 7 eEed e w1 wen & fHE Q3o @ oA Hew H wif

OR ( 319d1)

What are fertilizers? State any two advantages of using fertilizers in fields

over manures.

IaT T BN 27 BAl H TR I TUET I 1 STAN FH B HIE A AH
fafem)

Differentiate between strong and weak electrolytes. (2 points). Also give
one example of each.

el 3 qoel o el & HEd ofdl T HIfWT (FE | @) | T0E
T Th-Teh 3 o fe)




21. Suggest any three measures to limit noise pollution.

et gguel 1 FafE w0 & fF=l &7 s =1 geme §ffew

22

23.

24.

25.

OR (A¥dET)

Name the sound producing organ of human beings and briefly explain the

mechanism of sound production in them.
T | e Seke 317 1 AW fafen qun saf-SaA-wfwen &1 g o
EUEREAIE

Name the micro-organism which causes tuberculosis. Explain how does

tuberculosis spread from an infected person to a healthy person?

9 gemsta @1 A fafey i qufis S e @) qufesw el denfi
e 9 @R Al 9% Y Boldl 7, TIR Fe

()
(b)
()
(b)

What is protoplasm present inside the nucleus called?
Name the part of nucleus that condenses to form chromosomes at the

time of cell division. State the function of chromosomes in a cell.
FF F A TaEEH ST ¥ BT F FE W 82

FSF K KA T AN FIE GIOH F TEG GG BT O
fomfor sear 22 et Fifvrem o R 1y T St

Why is potable water considered fit for drinking?

Briefly explain any two methods of water purification.

oStel Rl U & ARG FE W S 87
Sa-yfgwo &t = & faftai = wem o aofa wifsmw)

Describe the role of atmosphere in protecting and preserving life on

earth. (3 points)

gedl W Sfed 1 YR IR ufRear § aeHed # aftent T i) (i
1 feg)

1+2=3

1+2=3



26.

27

28.

(b)

Name the gas evolved when zinc reacts with dilute hydrochloric acid.
How is this gas identified?

Write the balanced chemical equation for the above reaction.

T ® TR o & WY AWEA FE W EE = St
T B7 3@ 79 I TS %y &I W 22
9 Afufsrar 3q Sqfaa TEEt e fafen)

State the cause of refraction of light? Mention the rules for refraction
of light.
Draw a ray diagram to show the image formed by a convex lens when

the object is located between F and 2F points of lens.

YhTIT-SATIAA T FHROT S HITTT| T o A o 0 1 Seold
FHITST|

99 U form # 39 " $ F SR 2F fagel & wew @ W @ oAl
ST Wiatera fmior <o & foag fem sma Eifan)

Alternative question for visually impaired students only in lieu of Q. No. 27(b)
WH. 27(b) % WM W Hhad e aiud faenfdal & fou derfeas a9

State the nature, size and position of the image formed by a convex lens

when the object is located between F and 2F points of lens.

W9 UH fara # 3O o™ % F AR 2F fagsl & wew @ W © oAl
IG% Wiafsa w1 Yhid, SR R feurfq fafem)

Name the property of eye that enables us to see distant as well as nearby

objects with almost same clarity. Briefly explain the functions of following

parts of eye -

(a)
()

Cornea (b) Ciliary muscles

Optic nerve (d) Rod cells

2+1=3

342=5

1+4=5



29.

¥ % 39 fauiw 0 w1 AW fafen SoEH 5T UE 9 i agsl i e
T THH TRl # 1Y SEH § 9&H 946 ¢l 99 & 7 g6l & sl
&1 F&Y § 9uiF SHifaT -

(@) =S HEd (i) (b) vemsft oferer
(c) TR TR (d) VTR FIRTET (T FHIRET)
OR ( 319ET)

(a) What is the another name of hypermetropia? At what position does the
image of a nearby object formed in a person suffering from this defect?

(b) State two possible causes of hypermetropia and write the type of lens that
can be used to correct this defect.

(@) <TEES H R P FEl W@ o7 3@ AW 4 g e ¥ ke Wi
TG 1 UldtsS el a7 22

(b) TTHES! W % T GHIGT HION T Socit@l HITTT a0 TH AT 6l Sk Bl
% fau v e H o« o| @1 AW fatem)

Shalini prepared a blue coloured solution of copper sulphate in a beaker.
She added a magnesium ribbon to it and observed the changes after an hour.
(a) What is the change is colour of solution?

(b) Name the type of chemical reaction involved.

(c) Write the balanced chemical equation for the above reaction.

(d) What will happen if she adds copper wire in magnesium sulphate

solution. Give suitable reason for your answer.

A & T S T FHO Fewe 1 Aol T T faerd TR fEn s e
Frfifyrrm e eren 3 UF 5 uvEe eF A uiterdd 1 ger fwa

(@) faerma & @ § @1 ufeds s 27

(b) THH BW arell qEETE wiatear w1 T fafeu|

2+3=5



30.

31.

() ST TEEAE Jfafwa H1 Sfad TEEs e fate)
d) afe ag TAfery gethe faema § wW # 9 Sred ®, @ g
3T IW & Ty g SR Sifsu)

OR (319d1)

State two reasons why alloys are better than pure metals. Write the

composition of Brass, Bronze and Gun metal.
fr=l < FROT w1 Ioor@ wifaU fF fAa|y s orgedt *1 e 9%
Bl 27 fiddl, HiE SR T Ug S GAE de e

State three reasons why it is advised to restrict the use of plastic? Suggest two

measures to control the damage caused by plastic waste.

s & ST H YF4 w1 90Het = fRar S 22 i o eRo fafeu)
s IR & HROT BH ATel &G &l Ushd @ ig Al SIAI H GHE
el

List the various steps that lead to the development of an infant from the

zygote in human beings.

gl | s | i) 9 a6 A w uihen & ot =1on @ gEies
it

OR ( 3A¥dT)

How are sexual and asexual reproduction different from each other?
(2 points). Name and explain the method by which Hydra reproduces

asexually. (No diagram is required)
Afer iR ereifiteh o T TE @ R R i e €2 (S 9 fEY) sa

fafer =1 AW fafew g wfFan &1 auig SifeT fSEs gR 8BSl SToiitd S
Fa gl (faa ®1 savaswa 781 21)

2+3=5



32.

(b)

()

List two secondary sexual characters seen only in girls but not in boys
at adolescence.

What are harmones? Name the harmone responsible for -

(i) Growth and development of body

(i) Maintaining glucose level in blood

(iii) Regulating metabolic rate of the body

(iv) Maturation of sex organs in males.

forvimreen & aefral o fKer fu s o fmef 3§ 9w dfrs qa
w gl SR S eH H T e a2

T 1 B €2 T % fou sweE wiE % A fatey -

() TR # gy R fawm

(i) T | U & T Bl AT @A

(i) YRR & =99=F X & FEfa e

(iv) T&9 § I 3 T qideear

2+3=5



Paper -9

Maximum Marks : 90

SECTION - A (@E-31)

The device which is used to correct hypermetropia (a defect of human eye) is :

(a) Convex lens (b) Convex mirror

(c) Concave lens (d) Concave mirror 1
TH I W R I AT (AT AW FTF W) FOP FA H A0 TE
ERIEEIGI] % H

(a) I @ (b) I FHOT

(c) ofEde oF (d) erEder guuT

Complete the following reaction :

Mg(s) + 2H,0 (1) +
(a) MgO+H, (b) Mg(OH),+H,
(©) MgO+HO (d) MgOH + H, 1
Freaferfem sfatF B T
Mg(s) + 2H,O (1) +
(a) MgO+H, (b) Mg(OH),+H,
() MgO+HO (d) MgOH+H,
Which of these is an example of Asteroid?
(a) Ursa Major (b) Moon
(c) Ceres (d) Phobos 1
T W H-H LEUE T ISR 27
(a) TR (b)
(c) H=H (d) TR
Which of the following synthetic fibres resembles wool and is used to make
blankets?
(a) Rayon (b) Acrylon
(c) Nylon (d) Terylene 1
frefatea & 9 = @ feefen T o4 s Ked 2 SR wed a9 & fog
WA T S 22
@ W@ (b) TfFE
() (d) et
Define dispersion of light. 1
et fagrur st aftfod sifsm)
What is a constellation? 1
aRHved Ry wed 27
Which part of the human eye makes a person blue-eyed? 1

TMa i@ &1 HHE-91 9N UF Al &1 Al @ el a9 82



10.

11.

12.

13.

14.

Define the term echo.

g yfqeatt =t ity sifs

Can pure gold be used to make jewellery? Give reason to justify your answer.
N YO0 TH F AU g WR F s w5 S w87 o i
3 I I TR HifU|

What is the simplest molecule of a polymer known as?

T g 1 TId OIS THE H N HEd 87

Does white light show dispersion in air? Give reason for your answer.

I B § vad YRl e e 27 39 W @ fu wRu sqEy)

In the given diagram, name the two phases of moon (a) and (b) as viewed
from earth?

fgu MU sE W gyl | fGEA d9nedl, =g w1 S wenstt (%) W (W) &
I SR

Alternative question for visually impaired students only in lieu of Q. No. 12
WH 127% W W e afaq faenfd=i & fau dwfeas gom

Name the phases of the moon, as viewed from earth, when

(a) the moon is between the sun and the earth.

(b) the earth is between the sun and the moon.

geat @ fe@e areft 37 =59 & Fwoned & AW fafa, s«
(%) 55 94 3R geat & = 2
(@)t T R T A

Satish, a lab attendant has two new containers one made of copper and
the other of Iron. Which container should Satish use to store the solution of
dilute Hydrochloric Acid (HCl) and why?

T TN WeE AW B UE a9 UH T I ¥ TF UH AR H A
2 # o qid | = 21 WA B A CESAE 3%l (HC1) i |ufEd
FH % TAU HH-T IS TREE S =Mey SR i

On a hot summer day, a little mosquito produces vibrating sound near your
ear at a rate of about 4000 wings beats per 5 seconds. What is the frequency, in
hertz, of this sound?

diqor T % o A kT A U Se-w est eYe o & UE e
4000 SR 9fd 5 Afehs ®1 W W G wSHSH €, SHH M HT A g
H M erh?



15.

16.

17.

18.

19:

20.

OR ( 31941 )

People, living near railway track, know well in advance about the approaching

train. How?

o8 3% % UG Ted ol el Wl 3 b TEEH 1 gd SFIHH §l S €1 $ha?

What is Myopia? Write any one cause of it?
e gfte = #0122 " &I UH SR fafen?

What is potable water? Write any two parameters which must be followed for

water to be potable.

oo T #ed &7 S HI YASd oW 9l HIE g AFRUS fAreu)
A pencil is partially dipped in water. The part of pencil, which is dipped under

water, appears bent.
(a) Name the phenomenon responsible for this observation.

(b) Draw a well labelled diagram to show this phenomenon. (Diagram only)

UM % et wifve w9 9 =dl gf U Ufae qel g wehe et €

() 39 W&l % fou SoerEt ufmear 1 am fafem)

(b) 39 9REreAl i YE¥a w3 & fou geft aifq Fmifera sm@ difaul (sad
@)

Alternative question for visually impaired students only in lieu of Q. No. 17
W, 17 =W W gfe anfea faenfdat & fou aerfeqs w9

What do you understand by the term 'Refraction of light'? Write two laws of
refraction of light.

‘YeRTYl YA’ § S 1 HESd o7 U STUEdd % s & e fere

Explain the steps which are generally involved in the extraction of a metal

from its ore.

I O o F=RT § 9 w9 9 WgE S del =X0N w1 9ui ife
OR ( 31&@n )

How is a mineral different from an ore? Name the ore from which Aluminum

can be extracted.
T | eI fre wR fos 27 39 /e &1 AW aaet frad tegiate
frenfifa frem <m Tt 2

Write any three sources of noise pollution.

e gguw & feRdt W A S @ forE

State any three precautions to ensure the proper functioning of human eye.
AME A9 % "qfad & gHvEd w6 % fau & aeefE s g9'es
HITeT|

1o+21hH

1+2

2+1



21+

22,

23.

24.

(a) Why do Geostationary Satellites appear to be fixed at one positon?

(b) How are artificial satellites important? (Give any two points)

(%) ufer swe wk € feafa § fer #i e <q €2
(@) 30E g vr qeayul 22 (FE 9 qed 9dq=)

One afternoon, while returning from school, Sakshi observed that in a lunch
party near her house, guests were throwing used disposable plastic plates
on the road. She immediately requested the organizer to keep a bin so
that guests can use the bin instead of littering on the road.

(a) How are materials made up of plastic harmful? (Give any two points)
(b) State the values displayed by Sakshi.

& faA <Rt & foaeE 9 ded 99 wiEl A fen i sEe W ® " u
o= e 99 W ¢ T A v R R (ferisee wited #1 wi)
e W e ® T Wiel 3 Ul &% e @ qid Uk HSeH Wl S0
foha aifeh Hed™ Tesh W H90 HhelH % 9wl SH HSE H AN H
(%) TR 1 & oeqd fohd Wbl BTN B2 (WhiE g1 HI0T fafEn)
(@) Weft g =TT T SEAes fatem)

Water has a property to dissolve large number of substances in it, due to which

it gets polluted easily. Write three ways to identify the pollutants present in

water.

STl 1 U 01 € Top gud wgd wifue Hem ¥ uwd 9o i € g snv T
FEH | e € W 21 el H SR YUl %1 wewH & drd diA
Tl o1 SeeTd il

What is a Lens? Name two main types of lenses. Define the three special

rays used to draw ray diagrams for lenses.
dg w1l wifsul @9 % gE R W fafeae dw @ e
@ M & AU vged =H Al 9 e fRon st it i)

OR ( 39dT )

You are given a convex lens of focal length 20 cm. Draw a ray diagram to show
the formation of the image formed when the object is kept at a distance of 40
cm from the lens. (Use appropriate scale to draw the diagram.) Also state the

positon, size and nature of image formed.

AT 20 Y Wishel g Al TF Swiel oF KA @ 21 S R o i
39 o9 W 40 TH FT IO W W TR AW A% F AT T R 900
U U oo s aqEu gfafara &1 feafa, smer aon gafa o saEu)

142

2+1

1+1+3

3+2



25.

26.

27

Alternative question for visually impaired students only in lieu of Q. No. 24

WH, 24 & H W e anfaa faanfda & o dewfeus woA

What type of lens is used as a 'Reading Lens? How is the object positioned

with respect to this lens? Write the nature, size and position of image formed
through this lens? 2+3
et ® AU 69 YRR # " w1 wE R S 82 36 oW % ey awg

= feafa +€t 891 WEW? 39 @9 & g o9 o6l giatas i fefd, sen

Tl Uhid Tafa)

Differentiate between Metals and Non-metals on the basis of Sonorosity,
Lustre, Tensile strength, Thermal conductivity and Malleability. 5
T el UG H IART LafTehal, THRICAGH, 1, FOHA ATeiehdl ST A=
FHATA H AER W AT T2 FHs

OR ( 3194 )

(a) What happens when : (write balanced chemical equations)
(i) Zinc reacts with sulphuric acid.
(ii) Sulphur burns in presence of oxygen.
(b) Write an activity to show that compound formed by burning of carbon in
oxygen is acidic in nature. 114+3%
(F)F B B WS : (Fdfew wEEti weEm fafem))
(i) TS Fewits e & @ sifufwan s €|
(it) ot sfedisT &1 sufeufd § St 2|
(@) HTa B FATRISH H1 IS H Sor @ a1 a1l A 1 THia ARA
g - 7% U % fou uw framem fag

(a) What is the difference between amplitude and time period of a
vibration?

(b) Write three harmful effects of noise pollution on health. 5

(a) I TA % SEW ST AEdE WO Hal €7

(b) =& YEHU & WEME W BH A 0 sl-eReE 9eE fafa)

OR ( 319@1)

How do humans produce sound? How is this produced sound can be made

shrill or flat? Explain in detail. 342

AT A HE IO F1 7 98 ScAed At diel 9 wie H9 8 g
27 foerude avfF Fifsu)

Explain five characteristics of Synthetic Plastic. 5

Hyelfya wenfies &1 9= w@ fawmarst &1 gui Hifa)



28.

29.

30.

3l

32.

33.

34.

35.

OR (39dT)

List five measures to control the damage caused by plastic waste.
fies Fe | BH 9 TRed &1 fEba w9 2g R e sl w5 ge
TR

SECTION - B (@S-

Which of these is a Rabi crop?

(i) Paddy (il) Maize

(ili) Wheat (iv) Soya bean

T G HH-T Tk @ H FEA 2

i &= (i1) Hehl

(i) T8 (iv) Tl

During fertilization. When an egg fuses with sperm, then the

resultant zygote will develop into a male child.

i 2+X (i) 44+ X

(i) 22+Y (iv) 44+Y

e & <MW, 9w e EO w WY faed
B A THAS IS H ®9 W fasfad geml

i 22+X (i) 44+X

(iii) 22+Y (iv) 44+Y

Failure to build healthy bones may increase the risk of which disease in the
later life?

IR HIAE Sfod § W gfedl & i § fawea fRE S & '@
I T TRl &7

Where do sperms develop in a male reproductive system?
TS H YR el Iea B 87
What is broadcasting in terms of agricultural practices?

Ffe genati & daf ¥ ‘gieEEn’ @ 2?

What is a hermaphrodite? Give one example.

Iyt #0127 T ISR A

What are oviparous animals? Give an example.

FEYSF Sq N T B2 Th IR Afe

Why Endocrine Gland is known as Ductless Gland? What is the role of

endocrine system? (Give any two points)

FHa e Y w1 Afceaga U ® w9 H Fb S S 22 TR = Hed
8?2 (FE T Hew fatan)



36.

37

38.

39.

OR ( 379@1 )

Write the location of Adrenal Gland. What is its function?
HAfergaer Ufe w1 freffa fofa fafew soe =0 w8 22

Write three methods to replenish the fertility of soil.

fedt B s # W 9R F @ 69 e fara

Yash, a student of class VIII, enjoys playing indoor games only. His cousin,
Sanyam, always advises him to play outdoor games and insists on physical
exercises. Sanyam also explained the importance of physical exercises to Yash.
(a) Why physical exercises are important at his age?

(b) Which values of Sanyam are shown here?

0, TS FET H T OF ¢ 99 had W B ST Wol a9 €A (37N
©d) | B AME AW 21 SHE =T=U 9, GIA IY SN 9l Wl SH 9
Wl (3MESR ) Bel a9 e =EH $0 W SR 9 8 95, q9
F RN =TEM % e & S gEe 2

(%) ITH! 39 | WRITER =a@m = Heeui €7

(@) TRl §98 F FE-Y SHaTged wEif ee €2

List the various steps that lead to the formation of egg of a hen.

32 g Wit o & fafay =woi & geEg #ifu)
OR ( 379@T )

What is metamorphosis? What are the changes that occur in the body of a
tadpole during this process?

FEATEO | T N G T T AT B N Seue B YRR H A wiada
T &2
What is ploughing? State its four advantages.
A fF8 wed €2 AR *1 =N SYANEl saEu
OR ( 379E )

Why agricultural practices need to be improved? Explain various methods of

crop improvement.
Ffu TgfrEl & YR W B e @ §2 BEd guR & fafe ol @
o i

2+1



Paper -10

Maximum Marks :

90

SECTION - A (@3-37)

A beam of parallel rays of light when incident on a device, emerges out of

it and get converged at one point. The device is likely to be. 1
(a) A convex lens (b) A concave lens
(c) Aglassslab (d) Aprism

T T FHMICR 0T w1 TH IS W6 T g W hfad gl gE IR
Y Tt Feperl € @ U fag W sfyEifa e 21 9w gfe dued: § oo

(a) TF ITA AW (b) TH e o

() = H = (@) wH

The audible range of sound for human beings is - 1
(a) Below 20 Hz (b) 20Hz to 20,000 Hz

() 20 Hzto2KHz (d) above 20,000 Hz

et % fe eaf 1 s i @ 2

(@) 20HzH FH (b) 20Hz ¥ 20,000 Hz

(c) 20Hz¥ 2KHz (d) 20,000HzH 1R

Name a non metal which exists in liquid state - 1
(@) Mercury (b) Carbon

(c) Bromine (d) Aluminium

T g # AW fafen St owe seen ¥ wE S g -

(a) FEH (b)

() S (@) TER

Identify major source of water pollution - 1
(a) oil spill (b) Agricultural waste

(c) Acid Rain (d) Industrial waste

Vel FEHU 1 JHE WA TEH i

() T BT e (b) Ffa arafere

(c) 7= =t (d) 3renfiE erafire

Name a planet that has been named after a Roman Sea God. 1

TF TR 1 AW feafen famew am 6 W e W T R



10.

11.

12.

Astronauts are not able to talk directly to one another on the moon as we

normally do on the earth. Why?
=g W AR A Tk @ W9 A e Y gehd € S| R g

B9 JAl W 21 HRU fafEu)

Name a prominent coustellation looking like distorted form of the letter 'W'
or'M'.

TF Y@ dUHUES &1 AW fafEe S sst ® 1R W stgEr 'M' & fae
(o) &9 <1 @ < 2|

Suggest any two measures to conserve water in daily life.

e St o s " & forg fel < a1 gee S

Mention the name given to the property by virtue of which metals can be

beaten into thin sheets?
fra Tored g g i dewt Tt =Y S ST Gehdal @ 39 UEH #
TH T Ioerd HiTe

Name any two metals that are more reactive than Aluminium.

TefafEm & sifte sifufwanta &= < agst = W fafew)

Name the following :-

(i) Largest asteroid

(i) A periodic comet

(iii) A visible layer of the sun

(iv) A planet which can be seen with naked eye

frefafea = 7w fafew -

() TIH FS1 &EUE (Afeh1)

(i) TH SR

(i) Y3 HITH I T

(v) TF T 5@ 0 sife gm @ s @ B

The normal human eye can comfortably see a book lying on the table as
well as stars in the sky. Name the property of the eye that enables it to see
nearby as well as far off objects. State in brief the reason for this for this

amazing ability of the human eye.

Toax4=2



13.

14.

15.

W A 15 U9 W @ g TR IR a1 WY g AR § e ar 3T
Y @ T B A F 39 [UeH w1 A fofen sis9 ke ®ioqen 5w
TEGET F F@A W W WA 2| WA A Bl S e awar & fou
q&d | HA0 ST w0

OR ( 37941 )

Name the part of the human eye which is responsible for :-
(a) colour vision.

(b) changing the curvature of human eye.

(c) regulating the amount of light entering the eye.

(d) providing protective layer for the eye.

uME A ® IE 9T %1 AW faten St e # fa seerEt o
() =9 gfe

(b) UHE 7> 1 dghdl § TfEdq

() =9 T I FAY FH Tl TR HT AGN HI A FET
(d) T B I WA SIS HIAT

Seema purchased a CD from a shop. While coming home, she was thrilled to
see a pattern of beautiful colours formed on it due to sun rays falling on it.

Name and define the phenomenon involved.

W A UF gHE H Uk HE TR R G9H Ad 96 98 HWiel & §8 W
T H ROl & R & R0 & A g& O % A9 I S i
2 M| BF arel uiEe &1 AW fafew gen s9 ufiienfia sifs)

Name the following -

(a) Ametal having very low metting point.
(b) A metalloid

= % W fafeg -

(@) TF g T ToMIF Wgd FH B 2
(b) T I

(a) What is meant by 18 carat gold?

(b) We prefer to use 18 carat gold rather than 24 carat gold for making
jewellery. Why?



16.

V7.

(@) 18 HE °H § T AYYE 2?2
(b) SMYEUT T % TeT B0 24 H2 |iH T 00 18 HE WA ST H
i #2467

OR ( 39d1)

Name an alloy which is used for making aircraft bodies. Also give its

composition. 1+1=2

T Tafaa ug 1 9w fafen SS9 ST g8 SN & e s H &% fau
Rl ST ©| SHET g o fafe)

Give two uses each of the following :-

(a) Nylon (b) Acrylon 1+1=2
= 7 9 g & 3 39 fafey -
() S (b) TR

Why does a pencil appear bent when it is partially dipped in water.
Explain with the help of a diagram. 3
S § Ay ®9 9 gAT 9H W U UfEe 3 & wdia Bt €, T emw

H FeEdl ¥ gHEEy)

Alternate question for visually impaired students only in lieu of Q. No. 17
WH. 175 = T gfe aifea faenfa & fau denfeus w9

For refration of light through spherical lence explain three rules.

MeAa |l g TN & 9adq % fou 99 frem s Fifsm)
OR ( 319rar )

(a) Define absolute refractive index of a medium.
(b) Which has higher absolute refractive index, glass or water?

(c) State the corelation between refractive index and optical density. 3

() fodt megm & fy smaedais &t uftam fafen)
(b) i FuE 9 § 9 TREH FRUS AUadaiw AHF B 82

(c) TAuer sTuecHi® qen WRIRTR ToAal & HEd TeErY oOad e




18. Sahil is planning to buy a house in a metrocity. The house short listed by
him is located on a very busy / noisy road. Help him decline the offer stating
any three harmful effects of noise pollution.

Tifeet Tk HAWEL § W TR W fER W @1 ) SHEh g Wik ghed
TF AR =5 / TS aelt g W Safed ¥ WK W % FE
BN UNE o9ad ohid g0 HIfed @i 39 W&ad & U 9 ®ed § Hewal
EAlE

19. Answer the following questions :-

(a) Define the term Echo?

(b) Why do we not hear echoes in our ordinary surroundings?

(c) Explain why we always hear the thunder a little after we see the flash
of lighting.

= el & 3w fafay -

(@) U gfgeaty =1 aftenfug wifsul

(b) A9 QAT gfder o e wfaeat # e g < 2?2

(c) TT= FIfC T B0 sHen fasiell 1 =0 aRdl & e &1 e g
¥ el i fear 22

20. (i) Label the parts a, b and c in the following diagram of the human ear.
(i) State one function of each of these parts a, b and ¢
() AFE Hui % U MU W@ o 9 a, b A IR BT
(i) 3T TIF a, b T c UFT T TH-Toh Whd e Hieg|

For visually impaired students only in lieu of Q. No. 20
WH, 20% H 4T gie arfiq faenfdal & fou defous woe
(i) Name three main parts of the human ear.

(ii) State one function of each of these parts.

1% +
12=3



21,

22;

23.

() TG w1 & IF ggE 9 & A fatem)
(i) 37 I 9N & UH-UH YHhE fafem)

Give reason for the following :-
(a) From outer space, the earth appears blue and green.
(b) Colourful bands are associated with Jupiter.

(c) Venus is hotter than mercury even through it is more distant from sun.

= & faw wrw fafae -

() el SfaiE ¥ geet el au e wdid et 2l

i) gEEAG & WY A i Hag el

i) §F ¥ I TE wI U qY Tg K 79T AHF B H ToSE Y 949 |
siferer T 21

One day Rohan went to buy vegetables with his mother. He noticed that

the vegetable seller was packing all items in polythene bags. Rohan

encourged the seller to ask customers to bring their own cloth / jute bags

otherwise provide them the same.

(@) Why did Rohan think of encouraging vegetable seller to use jute or
cloth bag instead of polythene bags. State two reasons.

(b) State two values displayed by Rohan.

T & e AT TEet & W wieE Tled T IEd W g %@l

& gest a=m aren @t wegel w1 deid Wt ofeal § U #w @

o WA A THEAGR W Wi el H O FUSSE K e A &

fau e+ 1 Wedfed o s=en 98 @E I9as Hu)

(@) e 7 = O fF Teslt 997 ol SHEEER HI difaeE w5 ofel
SYAN & TIF W RIS S 92 Iel o o Telu Weditgd s =teu)
T wr farem)

(b) e g w=f¥ia < wed fafem)

Give reason for following :-
(a) Domestic sewage in big cities should not be released into rivers.
(b) Fertilizers and pesticides dumped into water bodies are fatal for animals

and human life.

1x3=3

2+1=3



24.

(c) Chlorine tablets should be added to purify water.

= foau wro fafew .-

(@) 92 IEU H =i Hios &l Afd H qo T8l R =@neu)

(b) SewEl H U U Saie aun dewAeTE s a1 qeal % foe e
e TEd €|

(c) A @l Y5 W & fAU FARA i Micm eeft s =feq)

Ankit's grand mother finds it difficult to put the thread into a needle without
wearing spectacles.

(a) Which eye defect is she suffering from?

(b) Why does the defect occur?

() How it can be corrected?

(d) Mention two points we should adopt to take care of our eyes?

HAfera =t T S fa wvH W GE W T S ° oA sEe e

(@) = T 49 v ¥ wefaa 27

(b) T T FE g @2

(0) U Y H W R Gyt fran S werar 272

(d) T T3 FT @ FE & [@OC AR R AT SH arel & fagati @
Eisqieficaisid

OR ( 319dT1)

In an examination room you find come visually challanged students

reading by using logical system based on their sense of touch.

(a) Name the type of aid used for visually challenged persons.

(b) How optical and Non optical aids help visually challenged persons to
develop their skill to a higher level. Explain in brief.

T TG FwE H Y F/D g gAaq faeifei @ g v wi geer s W

SR SEEA F ST w8 W B

() 3fte guifad =afaal & fou fSe 9™ 1 Gerar SU9 &1 Sl 2 39
m fafeg)

(b) 3fe ywifaa =afe=i &1 o fqurar &1 3=9 =R a% fowfaa +0 +
AU eyt a1 YIRS WHA fHE YRR WEEEd ©2 HAY § v
Eaisi

1x3=3

1+1+1
+2=5

1+4=5



25. A student wants to project the image of a candle flame on the walls of his
school laboratory by using a lens.
(i) Which type of lens should be used?
(ii) By using the same lens, at what distance, in relation to the focal length
'F' of the lens should we place the candle flame so as to get a inverted
magnified image.
(iii) Draw a neat well labelled diagram to show the magnified image 1+1+

mentioned above. 3=5

Th DE TH o9 &1 ST HH Th AHad & sdael & gidted

=i Toreme™ gamenen #1 §ar W gafia S wedr / wEd el

() fFE YHR ®1 G ITEN HEAT AMEC?

(i) SH TH F ITAM FA gL @H HI R 3 'F' ° Hag Seal faared
gfafas o ® & fau diqedt w1 Seen w fEad g W @
=feu?

(i) ¥R Seoired faafia ufafda #t wgfifa &= & fou @=s well wifq
TmifRd e Eifew)

For visually impaired students only in lieu of Q. No. 25 (iii)
WH, 25 (iii) & =M W gfe aifaa faarfdat & fau defeas av
Wrie the nature, size and position of image formed by concave lens.

ad g g1 fafdq gfafss 1 gfa, dsa qon feufa fafe)
OR ( 37@T)

(a) Complete the following ray diagram

2F F

(b) State the position, nature and size of the image formed in above case.



26.

(c) Under what condition, does a convex lens form a virtual image.

(d) Mention any two uses of lenses in our daily life.

@ = fem T o srvm o

(b) TR U T yeheor H FfHa wfafda =t fufa ywfa aen agw fafew)
(© ToFm = ¥ swa o et wfafea @1 fmfon s 22

(d) TR R Sfem oW w3 s fafen

For visually impaired students only in lieu of Q. No. 25 (a) and (b)

WH. 25 (a) Td (b)h M W Ihe anfaa faenti= & fou denfeas uom
State three characteristics of the image formed by convex lens when the
object is placed beyond it 2F point.

T 3T aF & 99 9 faa &1 2F fag % @ e se ar e ufafss =
d srferereron fafem)

A non metal 'X' burns in air to form a gas "Y' which is responsible for global

warming and used in photo synthesis by plants. When this gas 'Y' dissolves

in water, it forms 'Z' which turns blue litmus red.

(a) Identify Xand Y.

(b) Write down balanced chemical equations of reactions involved.

(c) Why does the solution (Z) of the compound Y in water, turus blue litmus
red.

(d) Name a non-metal which is stored in water to prevent its reaction with
air.

TF g ‘X' 9 H W UF T Y S € S Afvew s &

o STReET & ae el g Yo SYeww H SuAn W € 96 ag 1M

"Y' S H St © @ 'z aAt @ S el foefen® v s e @1 | ufatdd

& 2

(@ ‘X' a9r 'y’ ® TEIE S

(b) BF AT TfafereT & Hgfea TaEfTR g fafen)

() e 'Y’ w1 faerm ‘2" e foemm @ W oma w1 W uRafda w9
FIA B2

(d) TF AU &1 AW fafew fSaew s g 9 sfafea & faro & fag
v § TUE o S 2

1+2+1
+1=5
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OR ( 39gdT)

Give reason -

(a)
(b)
(©)
(d)
(e)

Metals are used for making bell.

Aluminium foil is used for packaging of food stuff.

Copper wires are used in electrical fittings.

Sodium and potassium are stored under kerosene.

Juices of citrus fruits are not stored in utensils made of iron or copper

or aluminium. 1x5=5

SO T -

(a)
(b)
(©)
(d)
()

(@)

(b)

(@)

(b)

(a)
(b)

el 1 I A a9 & faw e s 2

W qAT F TF AU UgHEE T T STE R S e
agd Tfen & s a/i &1 SwE faen S )

difezm aun drefirem 1 fRid & = seifia e s 2

TZ Wl ® @ B A, B e THtEE § 9 o § | T8
fora ST ©1

Why synthetic fibres are preferred over natural fibres? State 3 reasons.
Distinguish between thermoplastics and thermosetting plastics with
respect to -

(i) arrangement of molecules

(ii) ability to remould 3+2=5
iehfaer Yo @1 afien Hyafud W W sdga #& 9 S 21 i SR
fafem)

fm & wed W omienies du gMEfeT e & Ae faved
Ff o

() AU = SHaEen

(i) TEW G GH H 2O i HAT

OR ( 379dT)

Give the full form of PET and mention its uses
Explain why -
(i) Rayon is called regenerated fibre



28.

29.

30.

(i1) Bakelite is used to make handles of various utensils
(iii) It is advised not to wear clothes made of synthetic fibres while

working in kitchen.

(@) PET Ui &9 & faf@w aa s6a ST &1 Scai@ &ifsw)
(b) T HifSC f & = e 2 -
() EF I ; geitd 90 FE S 2
(i) dHeTse w1 ITN fafa= o= & e @ ® fau fE s 2
(i) THER H &1d Fd 90T GyAdd W 9 91 HIS B T TBT H
wmst fean S 2l

SECTION - B ( @g-9)

A crop, which is sown by transplantation, is :-

(i) Barley (ii) Wheat
(iii) Groundnut (iv) Poddy
TF FEA S IR0 gA ST S ¥ -

@ S (i) g

(i) HITHAT (iv) 9™

Geeta's heart started beating faster while she was watching a horror movie
due to secretion of :-

(i) Adrenalin (ii) Thyroxine

(iii) Growth Harmone (iv) Insulin

T & 88T HI USHA Uh SUaT Fardd @ §Hd F6s §enn § 98
LR

(@) ufgafem (i) oraUfEE

(iii) FfgarAE (iv) Tfe

Write the names of the implements used for -

(@) Ploughing (b) Crushing the crumbs
= # fau 3w fre SR 9 sie & 9 farey -
(@) B FAMI (b) B IHS &l dE

243=5
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32.

33,

34.

35.

36.

Name the processes by which Amoeba and Plasmodium reproduce. 1.

39 ufwast & AW fafeu e ga o aun WEiREE S99 w2

Prashant is 17 years old and is facing the problem of acne and pimples. Why? 1
TG 17 oSt ok € 99 Hie WErHl 1 GHEN HT qEA F @l el FHR
fafeam

What is a hermaphrodite? Explain giving an example. ?

SyAfart 1 B §7 TS 3T N TR Hifew|

Classify the animals given below into oviparous and viviparous animals :

(a) Elephant (b) Frog

(c) Hen (d) Humanbeings 2
= U MU Sqe I ATSUSIE q SIS H i ity -

(a) Tl (b) Heh

© (b) W

Rahul, a science graduate was visiting his native village. He observed that
farmers were watering the crop 2-3 times a day excessively. He told the
farmers about the harmful effects of excessive supply of water to plants.

(a) How does excessive use of water affect plants?

(b) Write two values displayed by Rahul. 1+1
TEd S W& foam Sas 2, 3 U9 Wa T SEd Uik R e osusw
Tia % fREE wEe ®1 T A 2-3 R anfurera | fuE w91 sE
ool 1 St 1 anfee emgfd @ diei W R aTet B gEl @ st
EREI

(@) ST 1 AU ITAN UG} @ fRE YR UfEad S 82

(b) TEA B WRRIA | Hed fareu)

(a) State any two advantages of ploughing the field.

(b) What are weedicides? 2+1
(@) Bd &l Sad & & A @9 fafeu)

(b) TRIGER T F e T2



37. Farmers in Northern India grow a leguminous crop between two successive

38.

cereal crops.

(@)
(b)

What is this practice called?

Why only leguminous plants are selected for this practice?

SW O § fFEm T oawfae oM # el % ST AR Hi B
3T 2

(@)
(b)

(@)
(b)
(©
(@)

(b)
(©)

(b)
(@)

(b)

T AT F T FE AT 27
W AE & U dod TS & WH H = B A (A S 22

OR ( 3¥dr)

Why are harvested food grains sundried before storing?

How is large scale storage of fruits and vegetables done?

What is 'winnowing'?

WEA hl HSRE h AR IS hl WSRU H WEA YU W F @
=MfeT?

Tl de Hiewal w1 g8 W W WeR fHE YHR fEHa s 22
“fomign’ (FewT) @ T 82

Draw a neat diagram of human female reproductive system and label
the following parts :-

(i) site of fertilization

(i) site where embryo develops

(iii) part which produces ova

How is embryo different from foetus?

UG AG 19 97 1 e 3 Wirau qen f=faied 9rm 1 A
ST -

() fAo=m =1 e

) T el g foshfaa g 2

(i) T8 WO S SUS] SO w2

yor, 7§ forg wehR foet g 22

1+2

1+1+1

3+2



39.

For visually impaired students only in lieu of Q. No. 38
WH. 38% M W ghe aifyq faerfdal & fau dwfeasn woa

Write any three functions performed by the human female reproductive system.

Mg AE S 99 g0 99— fRu §H g wE 99 ver fafe)
OR ( 37eran)

Define is matamorphosis? What are the changes that occur in the body of a

tadpole during the process? Explain. 1+4

FHEAT 1 GG ST TF TR ® SRF deue ® YR § o A
fiadq = €, foeam § forfem)

(a) Defind adolescence.
(b) Why Adam's apple is seen in boys in front of the neck during puberty?
(¢) How is the sex of human child determined?
(d) Whatis the average age for the onset of puberty in boys and girls. 1+1+42+1
(@) Twvieren =t aftamn fafen)
(b) WEARE F SNH HD ASH | ITH A B M B WM § U U
Fi feer < 7
() W Ty @ fom fa weR 3@ fe s 22
(d) o= 9o wefFEal § deany & fau et emy w e 22

OR (Y41 )
(a) Complete the table given below :-
Endocrime harmone Rate of
gland secreted harmone

1 | Pituitary gland - -

2 | Thyroid gland - -

(b) 'Experimentation with drygs during adolescence strictly should be
avoided' - Why?
() Why adolescents should not substitute milk with cold drinks and

fruit juices. 2+2+1



(@) & < T TROM wI TW L -

37d: W ute | wifed e\ | BAE w1 iR

1 |drm uf= - =

2 | grRiEe Ut - -

(b) TorvieRen & <R g0 (SRfeh <on) & WY wE % fau e
HEE 9 I @A AUl wR fafe)

(¢ TFol =1 ¥ & ™M W Ida 99 a9 HaAl & W ;AL oA
=Meu?




